On the Ramanujan’s mathematics (mock theta functions and taxicab numbers)
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Abstract

In this research thesis, we have analyzed and deepened further Ramanujan
expressions (mock theta functions and taxicab numbers) applied to some sectors of
M-Theory (braneworld) and to the Black Hole Physics. We have therefore described
other new possible mathematical connections.
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https://www.britannica.com/biography/Srinivasa-Ramanujan
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Ramanujan's manuscript

The representations of 1729 as the sum of two cubes appear in the bottom right
corner. The equation expressing the near counter examples to Fermat's last theorem
appears further up: o + B> =° + (-1)".

From Wikipedia

The taxicab number, typically denoted Ta(m) or Taxicab(n), also called
the nth Hardy—Ramanujan number, is defined as the smallest integer that can be

expressed as a sum of two positive integer cubes in n distinct ways. The most famous
taxicab number is 1729 =Ta(2) =1 + 12 =9’ + 10’

From:

Holographic entanglement entropy under the minimal geometric
deformation and extensions
R. da Rocha, A. A. Tomaz - arXiv:1905.01548v2 [hep-th] 29 Dec 2019

Now, we have that:



My

for k1 = T MR Now, in order to the radial metric component asymptotically approach the
Schwarzschild behavior with ADM mass M; = 2M, e~ M") w1 — %‘- +O(r—?), one must necessarily
have k1 = —2M. In this case, the temporal and spatial components of the metric will be inversely

equal to each other (as it is the case of the Schwarzschild solution), containing a tidal charge
Q1 = 4M? reproducing a solution that is tidally charged by the Weyl fluid [45]:

s SR M1 14
e e = F 2 (14)
It is worth to emphasize that the metric of Eq. (14) has a degenerate event horizon at vy, = 2M =
Wl;. Since the degenerate horizon lies behind the Schwarzschild event horizon, rp, = My < rg = 20,
bulk effects are then responsible for decreasing the gravitational field strength on the brane.
Now the exterior solution for k = 2 can be constructed, making Eq. (12) to yield

o)y M @y 20:My

r " 72 or® {18}
where Q2 = 12M? and Ma = 3M. The radial component, on the other hand, reads
1 - c
—Alr) _ m ;
e r_l_mzzr___ (16)
T m=0
where the coefficients ¢ = ¢ (W2, Q2. 8) are
=T c,:s—%. CQZé{SQQ—'?SMQ]. (17a)
_ M, - 208 T aes . 86 w35
=g (M-, =gy et S e Trag e (70
5Q3  7sM3 28sM§ — 15Q3M, 5Q13 sM3 "
B e iy oy = , Cg = — ' (l‘c)
20736 2592 186624 4644864 279936

and s = Ry (1 — 2M3/3R) /(2 — M/ 35’.).IT . The asymptotic Schwarzschild behavior is then assured
when s = —M3/96. In this case, the degenerate event horizon is at re = 1.12Ms [5]. Hence, the
bulk Weyl fluid weakens gravitational field effects. The classical tests of GR applied to the EMGD
metric provide the following constraints on the value of the deformation parameter, k < 4.2 for the
gravitational redshift of light. The standard MGD corresponds to k = 0, whereas the Reissner—
Nordstrém solution represents the k = 1 case with the ADM mass M, instead.

For M = 1.312806e+40
Q2 = 12M2 and My = 3M.
(-3*1.312806e+40)/96

Result:
~4.10251875 x 10°®

-4.10251875*10°% =5

Thence:



~4.10251875¢+38-(4*3%1.312806¢+40)/3

Input interpretation:
1
-4.10251875 1D38—§[4 3+1.312806 - 10%)

Result:
_5.2022491875 x 10%

-5.2922491875%10%

1 -
2 = & (5Q2 — TsMpz)

1/6*%(((5%12*1.312806e+4072 - 7%(-4.10251875¢+38)*3*1.312806¢+40)))

Input interpretation:
1
¢ (5+12(1.312806 10%) - 7(-4.10251875 - 10°%) - 3 - 1.312806 - 10%)

Result:
1742300932041 393 750000 000000000000 000000000000 000000 000000000 -
000000000 000000000000

Scientific notation:
1.742300932904139375 . 10%!

1.74230993294139375%10°!

[vio

12
(3*1.312806e+40)/12*(((7*(-4.10251875e+38)*3*1.312806e+40)-(
5*12*1.312806e+40"2)))

£y = (Tshs —5(J7)

Input interpretation:

1

[E (3 1.312806 m““]]

(7(-4.10251875 - 10°%} -3 1.312806 - 10* -5.12(1.312806 - 10%]*)



Result:

~-34309724007 375890 450437500 000000000 000000 000000000000 000000 "
000 000000 000000000000 000 000000000000 000000 000000000000 000"
000000

Result:
~3.43097240073758904504375 x 104!

-3.43097240073758904504375%10'*!
We note that:

-1/(-3.43097240073758904504375*10"121)

Input interpretation:
-1

~(3.43097240073758904504375 1021}

Result:
2.014625602307440329550301955454831693427965014286452 ... = 107122

2.9146256...%10™"** result very near to the value of Cosmological Constant in Planck
units 2.888 * 107'%

For M = 1.312806e+40
Q2 = 12M2 and My = 3M.

-4.10251875*10°% =5

(25%(12*1.312806e+4072)"2)/288 — 7/216 *(-
4.10251875¢+38)*(3*1.312806e+40)"3

Input interpretation:
1 7
255 (25(12(1.312806 lD‘“:']z]z]—ﬁ[—leDESlB?S 10%%) (3~ 1.312806 - 10}



Result:
3.72101x 10

Scientific notation:
3.72101316314975147234511354375 x 10161

3.72101*10'%!

35 35
1206 Too6°M2 1728

2
e5= =53 QaMz

35/1296 *(-4.10251875¢+38)*(3*1.312806e+40)"4 — 35/1728 *
(12%1.312806e+4072)"2*(3%1.312806¢+40)

Input interpretation:

T29g (~410251875 10°%) (3~ 1.312806 - 10%)* -

35
g 12(1.312806 10%)%)? (3 x 1.312806 » 10%°)

Result:

-3438670463997319 368691424 785 794656 250 000000 000 000 000 000000 -
000000000000 000000000 000 000000000000 000000 000000000000 000 "
000000000000 000000000 000 000000000000 000000 000000000000 000"
000000000000 000000000 000 000 000

Input interpretation:

295 (-4 10251875 10°%)(3+1.312806 - 10%)* -

35
T7gg (12(1.312806 10%)* (3 -1.312806 - 10%) = -(3.438670463997 - 1071}

Result:
True

-3.438670463997%10°"!



Note that:

35/1296 *(-4.10251875¢+38)*(3*1.312806e+40)"4 — 35/x *
(12%1.312806e+4072)"2*(3*1.312806e+40) = -3.438670463997*10/201

Input interpretation:

35
T20g (~410251875 10°%) (3 +1.312806 - 10%)* -

35
— (12(1.312806 - 10%)*)* (3 - 1.312806 - 10™) = —(3.438670463997 - 107"}
X

Result:
5.89596 x 1094
= ~ 2.66564 %10 = -3.438670463997 % 10°°!
X
Plot:
. & .
1108 5x107 - 5x10° 1 =107
5.0 % |[J-m§
1.0 %1020
1.5 %1021 |
2.0 %1021
2.5 %1020 5.80508.1029% _ ____ _ ygg
_3.0%10%1 | SepmE e
et — -3.438670463997 » 10°71

Alternate form assuming x is real:
5.89596 x 10%™

X

= 341201 % 106%

Alternate form:
~2.66564 %10 x - 5.80506 = 10°%*

X

= -3.438670463997 x 10°°1

Alternate form assuming x is positive:
3.41201%10*°! x = 5.89596 % 10°"* (

Solution:
x=1728.

1728

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
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Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729

- 5Q3  7sM3
6~ 20736 2502

For M =1.312806e+40

Q2 = 12M? and M, = 3M.
-4.10251875e+38 =s

5/20736*(12%1.312806e+40"2)"3-7/2592%(-4.10251875e+38)*(3*1.312806e+40)"5

Input interpretation:
7
(12 (1.312806 1D“°]2]3-ﬁ[-4.192513?5 10°%)(3 - 1.312806 - 10%)°

20736

Result:
2.23799 x 10°¥

Scientific notation:
2.2379808R828511695441393076846281058468125 » 10°%

2.23798988285...%10**

_— 28sM5 — 15Q3 M,
T 186624

((28%(-4.10251875¢+38)*(3*1.312806e+40)"6-
15%(12%1.312806e+4072)"3*(3*1.312806¢+40)))*1/186624

Input interpretation:
(28 (-4.10251875 - 10°%) (3 1.312806 - 10%)° -

15(12(1.312806 - 10\ (3 - 1.312806 - 10%%)
{12 I ) 186624

9



Result:
-28231936469112555 929478 782932490727 870056218 125000000 000000~
000000000000 000000000 000000000 000000 000000000000 000000 000
000000000000 000000000 000000000 000000 000000000 000000000 000
000000000000 000000000 000000000 000000 000000000 000000000 000 -
000000000000 000000000 000000000 000000 000000000 000000

Input interpretation:
(28(-4.10251875 - 10°°)(3 ~ 1.312806 - 10™)° -

15(12(1.312806 - 10%)°)* (3 1.312806 - 10™"))

= —{2.82319364691125 » 10%%
186 624 | . ? ]

Result:
True

-2.82319364691125%10°%

__5QF _ sMj
4644864 279936

Cs

(1/4644864 * (5*(12*1.312806e+40"2)"4))-1/279936 * (-
4.10251875e+38)*(3*1.312806¢+40)"7

Input interpretation:

—  (5{12(1.312806 % 10" -
4644854[ 14y Fr)

79938 (-4.10251875 - 10°°) (3~ 1.312806 - 10%)’

Result:
1.99090581991563733024054010487798281555641 78501577678, = 103'°

10



Repeating decimal:
1.0909058199156373302405401048779828155564178501577678... = 1031°

1.990905819...*10°"

Now, we have that:

(3.72101*10"161) *1/ (-3.43097240073758904504375*10"121)*1
/(1.74230993294139375*10781) *1/ (-5.2922491875*10740)

Input interpretation:

. 1
(3.72101 ml‘sl;[- ]
3.43(:19?24(30?3?589(345&113?5 1017

1.74230093294139375 - 10%! [_5.29224913?5 m“”]

Result:
1.17619117123253569043308180484 138059098 7406673075303095 ... « 10782

1.176191171..%10™
We have the following expression:

(1.990905819*10"319) / (-2.82319364691125*107280) * (2.23799*10"240) / (-
3.438670463997*107201)1.1761911712325356994330818948413805998749667307
530395 x 107-82

Input interpretation:
1.990905819 - 10° 2.23799 . 10°*%

©2.82319364691125 - 102% | 3.438670463997 . 10201
1.1761911712325356094330818948413805998749667307530395 1052

Result:
0.000053982817328710467945052051202254410676053607920186106...

0.0000539828173287....

11



1/(((((1.990905819%107319) / (-2.82319364691125%107280) * (2.23799*10/240) /
(_
3.438670463997%107201)1.1761911712325356994330818948413805998749667307
530395 x 107-82))))

Input interpretation:
/ 1.990905819 - 10°1° 2.23799 . 1074

/'l 2.82310364691125 - 102" | 3.438670463997 . 10201
1.1761911712325356094330818948413805998749667307530395 ~ 1052

Result:
18524.412942560311988296908980669115819760553901 74878665747, ..

18524.412942.....

We have also:

1/(((((1.990905819%107319) / (-2.82319364691125%107280) * (2.23799*10/240) /
(-3.438670463997%10°201)1.17619117123253569% 10-82))))-4096-123-47

Input interpretation:
1

Losvoselo 1070 (22070 107 ), 17619117123253569 - 10~
2.82310264601125 10280 | 3 438670463007 10201

4006 - 123 - 47

Result:
14258.41294256031213686315281492424361397432568300183889866. ..

14258.4129 =~ 14258 (Ramanujan taxicab number)

From the formula of coefficients of the '5th order' mock theta function ,(q):
(A053261 OEIS Sequence)

sqrt(golden ratio) * exp(Pi*sqrt(n/15)) / (2*5°(1/4)*sqrt(n))

for n =277, we obtain:

12



sqrt(golden ratio) * exp(Pi*sqrt(277/15)) / (2*5°(1/4)*sqrt(277)) -123 +(sqrt2)-1/2

Input:
|
EXp[}T 211?] :
W £ TP
2V5 V277 2

Exact result:

—

Fv.,n'z??,-'wn Ii
\Jz?? 247 —
- V2

2Y5

Decimal approximation:
18524.39145553517296556507151507858435406545262915122662377...

18524.3914555...
Property:
N 27715 I &
247 = 277
—— +y 2 4 is a transcendental number
2 2Vs

Alternate forms:

IL (1+ ,.';g] P\u'z?'?_.'ls m
247 — 554 !
S +yY 2+

2v5

| [
~684190 + 554042 +534 \{ 554(14y5) ¥ 3708w

5540

1 1 |5+45
= [g 9 _ 24-;.-] Pt N 27715
2 2\ 2770

13

# iz the golden ratio



Series representations:

T exp[n 277

15

w (-1)% (-2}, (277 - 20)* 55
~123+4/2 ~ { 2k

2v5 V277

i 1} 277 e
53% exp F\EZ { }k[ z.;.} Zo

1
= -1235§j = +
w (-1 {—El}k (¢ — o)< Z5°
i = k!
& ke [—Zl]kl (- 2k, @ -2 @77 - 20)2 r f

k1=ﬂk2=|:| kl!kE‘
w (-1F (1) (277 -z %~
[ID { = }k K1 for not ||ZpeR and —w < zg = 0))
k=0 i

15
2v5 277
K k{1
arg(277 - x) py & L0277 -x)" x [_E}k
-1235 exp(z T { “ .
2}1' k!

k=0
arg{z—?? - x}

i [ s
534 Exp[m {m
2

i

V=

= 1 S {_El}k o (-1 [¢—x}“x4‘{‘l}k

J] exp|m exp[z T

15 2
k=0 k! o k!
argi2 - x arg(277 - x
10 exp(ur{—g }J]Exp(rfr{—g }J]ﬁ
2n 2m

o L%z oM @77-xfz it (L) (-0) f
1 2

. 2 2
Z Z kqtks! /

ke =0ko=0

o (-1 (277 - xf x7* [_El}k]

rocsfr 12272 5 2

2
i k=0
forixeRandx <0

14

+



15

-
T exp[w 277

]-123“,/_-

1
235 V277 2

[( 1 J— 12 | g (27T -z W2 7)) s 1/2 |agi2 7720 /(2 m)

1 A 1/2 largi27 T—zgn W2 m)
-1235 [—]

0
ks Zp

k 1] . k _—k
12 |arg{2 77—z W2 m)] — (- 1} {_ 2 lk B Zo)" Zg
) +

k=0 !

, 1 2 |arg( 22 fizm| 12 (14]aug] 2ZE = )fizm))
304 Exp[n( J I 15 0 Iz ( I {35 o) I

o 0
En

o (- 1k [_ 21 }k [‘% - Zp }k o 1 \1/2 largld-zg ¥(2 m)]
24 k1 [ ]

pif
k=0 %
ki 1Y g oakeosk
1/2 [ gié-zg H(2m)] 1) [ z}.l.; Wl Bk %y
) ! +
k=0 :

1 U2 [argld—zq W2 m)]+1/2 |argl2 77—z W2 m))
e

g
Z 12412 |arg(2—=g W2 m)|+1/2 a0 a2 77=zn ¥{2 7))
o]

_ ka1 i 1 T
w (=1} [z}kl{ 2L{E[E sl (277 - 2) 2 By

B
- -

[ w (—-1f ["El}k (277 — 2 25

kqtks!

]ﬁ;

192 x

k=01

We have also:

((((L/(((((1.990905819%10~319) / (-2.82319364691125%107280) * (2.23799*10"240)
/ (-3.438670463997*107201)1.1761911712325 x 107-82)))))*1/2-1

Input interpretation:

-1

1
_ __leoooossle-10dl? [ 2.23799.10240

-82
2.82310364601125- 10280 | 3 azssmoaszcoT 11:13'3'1} 1.1761911712325x 10

Result:
135.104...

135.104... = 135 (Ramanujan taxicab number)

15



((((L/(((((1.990905819%10~319) / (-2.82319364691125%107280) * (2.23799*10/240)
/ (-3.438670463997*%107201)1.1761911712325 x 10°-82))))))"1/2+2

Input interpretation:

1

__ 1ee0905819-10%17 [_ 2.23799.10240 }1_1?51911?12325 10-82
.‘\ 2.82319364601125-102%0 | 3 438670463907 10201

+2

Result:
138.104. ..

138.104... = 138 (Ramanujan taxicab number)

((((L/(((((1.990905819%107319) / (-2.82319364691125%10/280) * (2.23799*10"240)
/ (-3.438670463997*%107201)1.1761911712325 x 10°-82)))))*1/2+2+34

Input interpretation:

1

__ 1eeoe05812-10°17 [_ 22379910240 }1_1?51911?12325 10-82
.‘\ 2.82319364601125- 10280 | 3 438670463007 10201

+2+34

Result:
172.104...

172.104... = 172 (Ramanujan taxicab number)

And:

sqrt(((sqrt(golden ratio) * exp(Pi*sqrt(277/15)) / (2*5™(1/4)*sqrt(277)) -123 +(sqrt2)-
1/2)))-1

Input:

|'j
_ EXP[?T \,.III 21_5 ]
V¢

— 1
o ~123+y2 - - -1
\ 2V5 V277 2

# iz the golden ratio
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Exact result:

—_—

P\I'E'?'?_-'IS = | &
\I 277 247
= ? + 2 -1

N 25

Decimal approximation:

135.1043403258513757143451577670016072883408474605113934169...

135.10434032... = 135 (Ramanujan taxicab number)

Property:
Fv.,l'Z?'?,-‘lS o \I e
247 277
-l4+,|-——+ \,E - is a transcendental number
\ o2 2 V5

Alternate forms:

| e ey
- $[1+1‘.|15'|_ IP1,||'.'Z'?'F_|15.-'r
A J

—— +42 + -1
A 25
[
:E[z 2-24ﬂ+} (5+#5 K R |
\ 2 2\ 2770
f
u|1335[-584199-+554Dvﬁ5-r5$4,£554[1+v?§}fﬁz?ﬂlE"J — 2770
2770

17



Series representations:

o exp[n E=

| :
—123+\'E—5 -1=-1+

\ ¥svam
ke
277 s 277
explr | == [V¢ exp[;r 277 W
249 [ 13 ] = (1] 249 - ]
-—— +y 2 + Z 2 [l-—+ - i
2 a5 V37T i \k 2 2 Y5 V277
=
Ve explx [ 22 EXP[N\(ZE CF
15 15
1 249
- -123+42 -=- -1=-1+,|-——+42 + ,
\ sy 2 2 2 Y5 V277
frieer &
eXplr |I21£ \ll';
CAF (L) 22l
[ 2k |72 R ERETH

k=0
V¢ explr [ 2Z
15 1
— K o PO O
\ 2¥5 v 2
s —
:xp:ruf%r]\l'dl
(-2 |- +vV2 s ————— 5|
-2k |5 R il 2
o0
—1+"'|,|'Z|:|ké‘:| k!

sqrt(((sqrt(golden ratio) * exp(Pi*sqrt(277/15)) / (2*5™(1/4)*sqrt(277)) -123 +(sqrt2)-
1/2)))+2

18



# iz the golden ratio

Exact result:

—

! f
N 27715 1 &
277 247

+y 2 +2

\ 2V5

Decimal approximation:
138.1043403258513757143451577670016072883408474695113934169...

138.10434032... = 138 (Ramanujan taxicab number)

Property:
V27715 | &
247 277
24, —— + \E + is a transcendental number
\ 2V5

Alternate forms:

1. [1+ ,‘,.g] eV27715 1
247 — 554 !
—— +y2 4+

2+,
\ 2 2V5

s
} ’ S+V3 1:“,,|.'2??,-'15 n

2+¥%[2\E—24?]+

2\ 2770
||
5540 + __q| 1385 [—684 190 + 5540 V2 +5%* [554(1+y5 ) ¢V 27715 "]
2770

Series representations:

e 277
\."q:'exp[;r 15] :
- —123+\j_—— +2 =
\ o¥s v 2
- — -3
exp[;r E]v’ i exp[;r E]v‘?
249 . (2 249 o '
0 -—+y 2 + - L 2 [[-— +42 +
\ 2 a¥E V27T ja\k 25 V277

19



ﬁexp[n HZE] 1 » EXP[H / %Jﬁ
—123+\K_—— +2=2+ | -——+4 2 +

\ s v 2 2 2Y5 V277

_123+42 -

1
py— - +2=
\ 2¥s5vam 2

PR —

:xpn\llf%r]\l'dl

18 [——1} A V2 | 5
2% 2Y5 V277

sqrt(((sqrt(golden ratio) * exp(Pi*sqrt(277/15)) / (2*5™(1/4)*sqrt(277)) -123 +(sqrt2)-
1/2)))+2+34

Input:
[277
EXP[NJE] y
Ve ——— 12342 -~ +2:34
\ 2V5 V277 2

# iz the golden ratio

Exact result:

-

f\l' 27715 n ‘JI

2Y5

277 247
-— +y2 +36

20



Decimal approximation:

172.1043403258513757143451577670016072883408474605113934169...

172.10434032... = 172 (Ramanujan taxicab number)

Property:
V27715 | @
247 277
B+, -— + \E - is a transcendental number
\ 2 V5

Alternate forms:

—_—

f
\f' il [1 iy ,‘,-'g'l qu??,-'lS T
247 F 554 !

36+, -— +y2 +
Vo2 2V5

s
} ’ S+V3 f,,'.'z??,-'w w

36+"€%[2£_24?]+

2\ 2770
||
99720 + "-Jl 1385 [-684 190 + 5540 V2 +5%* [554(1+v5 ) £V 27715 "]
2770

Series representations:

5 277
V¢ exp[;r \/ S

| 1
—123+\'E—5 +2+34 =36+

\ 2¥s5vam
_ —
exp|m Cil Vb exp;r\lz—? \.'"E
249 15 Lo B0 249 — 15
- +4 2 + 7 2 ||-— +v2 + i
\ 2 25 VI7TT  ia\k 2 2Y5 VI77
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1
-123+4 2 e +2+34 =

'\| 245 v 277
277 RS
explr [ == (V¢
249 p[ \ 15 ]
35+ _— 4+ 2 + A
2 2 Y5 V77
| 277 o
explr | T \I'.{u
Ll 15]
Df(-2) |-22 +v2
2k B
i
k=0 k!

15 1
2 —123+~./_—— +24+34 =
\l 25 + 277
I
| 27
:xpn\lll—
k 1 247
-1 [_E}k _T+E+ e
29
Lia)
36+ zo E‘j =

for not {({zogeR and —ea< z4 = 0))

Now, we have that:

For M =1.312806e+40

Q2 = 12M2 and Ms = 3M.

-4.10251875e+38 =s

Fory,=0.99 and y,=0.01, we obtain:
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w

.' T j 2
SpueD: o {_L?MIE {(yﬂ — 1) (3yo + 11) — 6log(yo) + 16log ( )1

1 + yo

2 5.""3{" 0
+ 3002 [l - uﬁ + Elug{yﬂ}] + 9=~ [{ l —wyo)(yo —T) +log ({lj—:—uu?mﬂ

> 2
+ 6sMa {(y.;. —1) (5y0 — 11) — 10log(yo) — 32log (y{;—l— lﬂ} -

Thence:

((4*(3*1.312806€+40)*2((0.99-1)(3*0.99+11)-6 In(0.99)+16 In(2/1.99)))) +
30(((12*1.312806e+40/2)))*((1-0.99/2+21n(0.99)))+9(-4.10251875e+38)2*((((((1-
0.99)(0.99-7)+n(((65536*0.99)/(1+0.99)16)))))))

Input interpretation:
2
4(31.312806 - 10%)? [m.gg ~1)(3+0.99 + 11) - 6 log(0.99) + 16 lng[l—gg]]+
30(12(1.312806 - 10%)) (1 - 0.99° + 2 log(0.99)) +

65536 - 0.
9(-4.10251875 - 10%%)? [[1 ~0.99)(0.99 - 7) + lag[ —gg]]

(1+0.99)'6

log(x) is the natural logarithm

Result:
-7.45514... = 1078

-7.45514...%10"®

(Pi/288)* (((-7.4551427600140934398744248572935525229702365227 x 10778 +
6*(-4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
321n(2/1.99))))))

Input interpretation:

% [—?.455142?50(314D934398?442485?2935525229?0235522? 10™ +
6(-4.10251875 - 10°°)(3 ~ 1.312806 - 10%}

2
0. — 135099 - 11y- 10 log(0.99;- 321 [—JJ
[[ 99 - 1)(5 - 0.99 0g(0.99 o¢( 55 ]

log(x) is the natural logarithm

Result:
~8.19596... % 1078

-8.1959629387765008039112929140935532696341843145 x 107°
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In((((Pi/288)* -(((-7.45514276 x 10778 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99)))))))-34-5

Input interpretation:

lng[% [—1}[-?.455142?5 107 + 6(-4.10251875 - 10°°)(3 1.312806 - 10%°)

2
[[0.99 ~1)(50.99 - 11) - 10 log(0.99) - 32 lag[l—gg DD _34-5

logixi is the natural logarithm

Result:
138.100...

138.1... = 138 (Ramanujan taxicab number)

In((((P1/288)* -(((-7.45514276 x 10"78 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99)))))))))-34-5+golden ratio

Input interpretation:

lag[% [—1}[-?.455142?5 107° +6(-4.10251875 - 10°%}(3 - 1.312806 - 10%)

2
[[0.99 ~1)(5-0.99 - 11) - 10 log(0.99) - 32 lng[l—gg DD _34-544

logix is the natural logarithm

# iz the golden ratio

Result:
139.718...

139.718... result practically equal to the rest mass of Pion meson 139.57 MeV
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In((((Pi/288)* -(((-7.45514276 x 10778 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
321n(2/1.99))))))))-55+Pi

Input interpretation:

lng[% [—1}[-?.455142?5 107 + 6(-4.10251875 - 10°°)(3 1.312806 - 10%°)

2
[[0.99 ~1)(50.99 - 11) - 10 log(0.99) - 32 lag[l—gg DD _55+x

log(x) is the natural logarithm

Result:
125.242...

125.242... result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18 GeV

1/2%27*(((In((((Pi/288)* (((-7.45514276 x 10778 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5%0.99-11)-10In(0.99)-
32In(2/1.99)))))))-35+5)))+13+1/golden ratio

Input interpretation:

1
: 2?[@[% [—1}[-?.455142?5 107 + 6(-4.10251875  10°°)

(31.312806 1(:1“‘3][[&99—1}[5 0.99 -11)-

10 log(0.99) - 32 1ng[l%m] S 5] e i

log(x) is the natural logarithm

# iz the golden ratio

Result:
1729.47...

1729.47...

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729
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We have also that:

(((((P1/288)* ((-(-7.45514276 x 10"78 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99))))))))))*1/24+123+Pi+1/golden ratio

Input interpretation:
[ﬁ [-[-?.455142?5 10° + 6(-4.10251875 - 10°]

(3-1.312806 - 10%) [[D.E’JQ ~1)(5%0.99 - 11) -

2 1
10 log(0.99) - 32 IDE[EDD] “(1/24)+123 + 1 + ;

logixy is the natural logarithm

# iz the golden ratio

Result:
1729.02...

1729.02...

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729

(((((P1/288)* ((-(-7.45514276 x 10"78 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99))))))))))"*1/36+sqrt2-1/(2golden ratio)

Input interpretation:
[ﬁ [-[-?.455142?5 107° + 6(-4.10251875 ~ 10°%]

(3-1.312806 1D“°][[D.99-1u5 0.99 - 11)-

2 ‘s g
10 log(0.99) - 321 [—Dm“ 1/36)+ 2 - —
L P Ul o

logixy is the natural logarithm

# iz the golden ratio
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Result:
138.032...

138.032... = 138 (Ramanujan taxicab number)

(((((P1/288)* ((-(-7.45514276 x 10"78 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99))))))))))*1/36-3+sqrt2-1/(2golden ratio)

Input interpretation:
[% [-[-?.455142?5 107° + 6(-4.10251875 - 10°]

(3x1.312806 x 10%) [[0.99 ~1)(5+0.99 -11) -

2 o 1
10 log(0. -321 [—J]DA 1/36)-3 2 - —
og(0.99) og 199 ] (1/36)-3+4/ 5

log(x) is the natural logarithm

#is the golden ratio

Result:
135.032...

135.032... = 135 (Ramanujan taxicab number)

(((((P1/288)* ((-(-7.45514276 x 10”78 + 6*(-
4.10251875e+38)*((((3*1.312806e+40))))(((0.99-1)(5*0.99-11)-10In(0.99)-
32In(2/1.99))))))))))"*1/36+34+sqrt2-1/(2golden ratio)

Input interpretation:
[% [-[-?.455142?5 10”° + 6 (-4.10251875 - 10°%)

(31.312806 m“”][m.gg—lns 0.99-11)-

2 A
10 log(0.99) - 321 [—ND’* 1/36)+34+42 — —
og(0.99) og .69 ] (1/36)+34 ++/ 5

logix is the natural logarithm

# iz the golden ratio

Result:
172.032...

172.032 = 172 (Ramanujan taxicab number)
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From

/35’3—}- /JJZ‘J - /7?{./

We have:
135.032"3 + 138.032"3 > 172.032"3-1

Input interpretation:
135.032% +138.022° = 172.032° -1

Result:
True

Difference:
738.07

738.07

From which:
135.032"3 + 138.03273 -(172.03273-1) +47-3

Input interpretation:
135.032° +138.032° - (172.032° - 1) +47 -3

Result:
782.070304768

782.070304768 result practically equal to the rest mass of Omega meson 782.65

Now, we have that:

yo — 1+ 2log —15”)
oL = —i 28 — 10¢ +¢% —48(¢ —4) ( £ ; (75)
p 7+ 8yo — y2log ( 65536 yo )

':1+y|1|

28



For {=-10 and y,=0.99, we obtain:

1/41(28-10(-10)+(-10)*2-48(-10-4)*(((((0.99-1+21n(2/1.99))/((((-7+8*0.99-
0.99/21n((65536*0.99)/(1+0.99Y*16))))))]

Input:
099-1+2 log[i}

1
F 28 - 10 »(-10) + (-10)* - 48 (-10 - 4)

~7+80.99 - 0.99° log[wl

140.00y16

log(x) is the natural logarithm

Result:
57.0050...

57.005..

Alternative representations:
(0.99 -1 +2log(-2))48 (-10-4) ]

1
e [28 ~10(-10) +(-10y* -
4 A5 536 000

~7+8 0.99- Dggzlcg[ e

672(~0.01 +2log, ”]

1
= lizBs 1oy
4 [ 0.92 - 1ag,['5“88° E’jD 992

(0.99 -1 +2log(-2))48 (-10-4) ]

A5 536 009

1 2
:1- 28 - 1010y +(-10y -
(1400018

-7 +8 -0.99 - 0.99° lcg[
672 (~0.01 + 2 log(@ log, (%) ]

1
= lizBs 1oy 64880 -
4 0.92 - lcg[ﬂ}lcgﬂ[ & )0.99%

0.99 -1 +2 log(-2-))48(-10-4
i[ﬂﬂ—m[—lmﬂ—lm‘?—[ ’ ng[lw}} [ }]]

~7+8 0.9 - 0.99% log{ £2%3¢ 422

1 672(-0.01-2Li(1- )
=128 +(-10y* +
4[ 0.92 +Li; [1-““33”}0992]
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Series representations:

1 (099 -1+2log(-2))48(-10-4)
> 28 - 10 (-10) + (- 10 - i

7(0.908608 + 3", M _6.01442 77 | O DDSEZSIB;:"‘]

0.93868 + )" m+w

1 (0.99 -1+2 1ag[i}}4s (-10 -4
5 28 - 10 (-10) + (- 10)° - i

7000005 gl © L0 )

arg(1.00503 - x) arg(1.07267 —x)
57 -D.454304-5.01442m{ J+”r J—
2m 2m
(11 (1.00503 — x)* x°*
2.50721 log(x) + 3.00721 Z X : =
k=1 k
2 (-1F (1.07267 -xff x* )}
0.5 = /
k=1
argi1.07267 — x
_0.46934 4 in | =2 }J+D.5 logix) -
2
@ (—1)F (107267 —x)F x7*

0.5
k

ke
=1

1 [Cl.99 -1+2 lug[i ”48 (—10 -4
~ 128 -10(-10) +(-10)* - i
3 -7+8.0.99 -0.992 10g[65536 Dw]

140,901 8
—iT + arg[ %] +argizg)
57|-0.454304 - 6.01442 i 7 |- ;D;r +
Sl arg[ 1.::?25?] rargEy)
im |~ ;”H —2.50721 log(zo) + 3.00721

1 [1.:..:.5.:.3 z0) zoF @ 1Y (107267 — g0 22
Z } u]' 0 'D'SZ ¥ ol Zg

k=1 k=1 k
—T+ arg[w] +argizg
~0.46934 +in |- ;‘3 +0.5 log(zg) -
m

i ~1)° (1.07267 - Zo)* 25°
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Integral representation:

2
1 0.99 - 1+2 log(— ||48(-10-4)
7[28-10¢-10)+ (107 - [ [I-W” I

~7+8 0.99 -0.992 lug[%]

["Iwﬁr 2521835 re o2 M1 4+ 5) »
e gy rl-s)
icaty €225 T_s) (1 + 5) 17
as||/
—i ca4y r(l-s) /
i g4y P2_621835 r[—.S}2 Il +s)
ds | fol

—i oa+y I(l-s)

5+

[55.1'?39 [r m—-0.550293

3.30969

[1 x-0.532663

21+2%1/4[28-10(-10)+(-10)"2-48(-10-4)*(0.99-1+2In(2/1.99))/((-7+8*0.99-
0.99°2In((65536*0.99)/(1+0.99)*16)))]

Input:
21 +

0.99-1+2 lc:g[é}

1
2 3 28 - 10 (-10) +(-10)* - 48 (-10 -4

-7 +80.99 - 0.99 log( #2602

logixy is the natural logarithm

Result:
135.010...

135.01... = 135 (Ramanujan taxicab number)

Alternative representations:

2 0.99 - 1+21log(-2||48(-10-4)
2 1.00
21+~ (28 -10(-10) +(-10)" - -
5 ~7+8  0.99 - 0.99° IDE{M]

(1400016
672(-0.01 +2 1ag,.[liw}}]

0.92 —lcgt.[% }0.992

2 2
21 + ; 128 +(-10y" +

2 (0.99 - 1+2log(-2-])48 (-10 -4
21+:1- 28 - 10 (-10) +(-10F° - 1.0 _

~7+8 0.9 -0.99" log 22422

672(-0.01 + 2 log(a) lagﬂ[lim” ]

2 2
21 + ; 128 +(-10y" +

0.92 - log(a) logﬂ[% j 0.99%
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_—
2 , (0.99 -1+2 lcg[E”ﬂrE (-10 - 4)

21+ - (28 -10(-10y +(-10y - _
4 _74+8 0.99 —0.092 102[65536 0.99]

(1400916
672(-0.01-2Liz(1- )

2 2
21+£ 128 +(-10y" +

0.92 + I_il[l - 614:21':'66 } .:,_ggz

Series representations:

2
2 0.99 - 1+2log|— ||48(-10 -4
21+ [28-10(-10)+(-107 - [ (i) _

135(0.913285 + 5", (00726694 _ ¢ oo TN -:—0.00502513;"]

k k

0.93868 + Z:’:l 1—&0?2#66%*‘

2
2 , (0.99 -1+2 lug[E”‘l-E -10-4 )

21 + - (28-10(-10) +(-10)" - _
4 ~7+8.0.99 - 0.992 lag[ £5 536 EI.'D'D]

(1400018
arg(1.00503 - x) arg(1.07267 - x)
2 2 J a
o & y GE
2.03942 log(x) + 2.53942 3’ (-1* (1.00503 - xf x*
k=1 k
2 (-1 (1.07267 - x)f x™
"
arg(1.07267 - x)
2
2, (-1 (1.07267 - x)* x™
k

J+I.?'I'

[135 [—0.455543 -5.078851 fl'{

/
/

0.5

k=1

-0.46934 +in

J+ 0.5 log(x) -

0.5
k=1

Ior X (i
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b r [0.99 -14+2 lag[i ))48(-10-4)

21 + = |28 10 (-10) + (-10)° — —
4 -7+8 0.99 - Dggzlcg[m—w]

140,001 8
-+ arg[ml +argizy)
135|-0.456643 —-5.07885 i |- ;':' +
Fin
-7+ ETE[M]-PEI’E[ZD}
im|— ;‘3 —2.03942 log(zg) + 2.53942
T
& (-1)° (1.00503 - z)* z5° % 1) (107267 —za ¥ 55 || ¢
¥ ) -
/
k=1
—n+arg[M]+arg[zD}
~0.46934 +in |- ‘;” +0.5 log(zo) -
T

® (1) (1.07267 —z)* =5
k

0.5
k

1

Integral representation:

2 (0.99 -1 +2log-=_ )| 48(-10-4)
21+Z 28 10 (10 + (100" — —

~7+8 0.99 -0.99° lug{%]

ity e 521835 [ s I(1 4 )
131.348 |im - 0.547474 ds +
—i a4y r(l-s)

: 52033 2
. [(—sy ({1l +s
gagaga T dlaelly
i ooy r(l-s) /

oy f2.621835 r[_s}z (1 + 5) .
ds| tor -1

im—0.532663
—i oty Il -s)

24-+2%1/4[28-10(-10)+(-10)"2-48(-10-4)*(0.99-1+2In(2/1.99))/((-7+8*0.99-
0.99°2In((65536*0.99)/(1+0.99)*16)))]

Input:
24 +

099 -1+2 lcg[i}

1
2 2 28 - 10 (-10) +(-10)* =48 (-10 -4

~7+80.99 - 0.99° Lﬂ%]
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Result:
138.010...

138.01... = 138 (Ramanujan taxicab number)

Alternative representations:

(0.99 -1+2 1ug[i j48-10-4)

2
24 4+ ; 28 - 10 (=10) +(-10)° —

128 +(-10)° +

~7+8  0.99 -0.99° lug[
672(-0.01+2 1ag,.[—

2
24 + -
4

)
0.92 —lag,['f“‘“c' “}D 992

(0.99 -1+2 1ug[i j48-10-4)

2
24 4+ ; 28 - 10 (=10) +(-10)° —

128 +(-10)° +

~7+8 - 0.99 - 0.99° lug[
672(-0.01 + 2 log(a) log, = )

2
24 + -
4

0.92 - log(a) lngﬂ[

6488[! f } 0. 992

(0.99 -1+2 1cg[%o}}4a (-10 -4

2
24 4 z 28 — 10 (-10) +(-10)° —

~7+8  0.99 - 0.99° lng[ ;
672(-0.01-2Liz(1- )

2 2
24+£ 128 +(-10y" +

Series representations:

0.92 +Liy(1- s Lo '5}0 992

(0.99 -1+2 1cg[i j48i-10-4)

2
24 4 : 28 — 10 (-10) +(-10)° —

138 (0.013838 + git | (OOT6W4F 4 gegaq yo (000502513

k

~7+8  0.99 - 0.99° lcg[

0.93868 + > * (007266041

k

34

logix is the natural logarithm



2 (0.99 - 1+2log(—-}|48(-10-4)
24+5r 28 - 10 (-10) + (-10)° - —

~7+80.99 - 0.997 log( £ 42|

(1.00503 - x) (1.07267 — x)
138 -0.455919-4.95844”rfrg X Jﬂﬂarg x J_
2 2
(-1* (1.00503 - x)* x*
1.98422 log(x) + 2.48422 Z ! o
k=1 k
=1 (07267
05 S U . x x ;
k=1
arg(l.07267 - x
4:1.45934“% 2 }J+r:|.5 log(x) -
2
i ~1k (1.07267 —xf x7*
I L)
5 [ (0.99 - 1+2log(-2})48(-10-4)

24 + = |28 - 10 (-10) + (-10)° - -
? -7+8-0.99 - DQQzlug{M—m]

1400016
( —iT + arg[m] +argizg)
138 [-0.456919 - 4.96844 i r |- ‘;'3 +
I
[1.0?26'?‘]
—T+arg| —— |+ argiz; )
|- ;‘3 - 1.98422 log(zg) + 2.48422
by
& (-1)° (1.00503 —zo)* z5* .l [1&?25? 2 5" ||
2 k Z /
k=1 =1
-+ arg[ —1'0?26?] +argizg
~0.46934 +in |- ;‘3 +0.5 log(zg) -
m

i ~1)° (1.07267 - z)* z5*
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Integral representation:
(0.99 -1 +2log = )48(-10-4)

2
24 4 z 28 -10(-10) +(-109° -

~7+8  0.99 -0.99° lug[%]

y 2621835 m 2 11 4 5)
134.348 |in - D54?l43f ds +
—i a4y [(1-s)

5.2933s 2
+¥ € M(—sy¥Til+s
2?1845[ il
—i va+y [(l-s) /
ity €2 821835 I o2 (1 4 5)
d5| tor
—i ooy Il -sy

[1 7 -0.532663

55+3+2%1/4[28-10(-10)+(-10)"2-48(-10-4)*(0.99-1+2In(2/1.99))/((-7+8*0.99-
0.99°2In((65536*0.99)/(1+0.99)*16)))]

Input:
23 +3+
0.99-1+2 lag[%}

1
2 3 28 10 (-10)+(-10y° — 48 (-10 - 4)

-7 +80.99 - 0.99 log( ©26.0)

logixi is the natural logarithm

Result:
172.010...

172.01... = 172 (Ramanujan taxicab number)

Alternative representations:
0.99 -1+2 1ag[i J)48(-10 -4

2
55+3+Z 28 — 10 (-10) + (-10)* —

_7+8x0.99 - uggzlag[ﬁ‘-‘lﬂ;T”l?]
672 [—D.D1+210gl.[—”]

2
58+ = [128 +(-10)° + ——
4 0.92 - log,( )0.99°
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0.99 — 1 +2log(—= )48 (-10 - 4
1.9

2
55434+ |28 101004100 —
. ~7+8 0.99 - 0.992 1ng[“5536—°-‘-"-°]

{140,051 6
672(-0.01 + 2 log(@ log,(-%. ) ]

2 2
58+; 128 +(-10y +

0.92 - log(a) 1agﬁ['5““° £)0.992

2 0.99 -1 +2log(-2 |48 (-10-4)
2 1.52
55+3+= |28 -10(-10)+(-10) - -
. ~7+8 0.99 - 0.992 1ng[“5536—°-‘-"-°]

{140,518
672 [—D.Dl =214 [1 = i}} ]

2
58+ — 128 +(-10)° + 6488::1 -
2 0.92 + Lia(1 - Z272)0.99?

Series representations:

2 (0.99 -1+2 1ag{i}}4s (-10-4)
55+3+Z 28 - 10 (-10) + (-10)* — -

~-7+8 0.99 -0.99* lug[%]

172(0.918748 + ¥, M ~3.9863 %, w.nnsszsla;k]

0.93868 + Y ‘—*‘-D?i“'-“‘-”‘”k

2 (0.99 -1 +2log(—))48 (-10-4)
55+3+;r 28 —10(-10) +(-10y° - _

~7+8 - 0.99-0.99 log{ £32 42|

arg(1.00503 - x) arg(1.07267 - x)
172 —D.4593?4—3.98531n{ Jﬂ;r J—
2 2
(- 1) (1.00503 - x)* x°*
1.49315 1ng[x}+1993152 X =
k=1 k
@ 1 (1.07267 —x)° x7¥
g ST : x) x ;
k=1
arg(1.07267 - x
—D.45934+1n{ d : }J+D.5 log(x) -
FiB

i[ 1% (1.07267 - x)* x°*
k=1
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(0.99 -1+2 1cg[i}}4s (-10 -4

~7+8  0.99 - 0.99° 1ag[“553'5—'”’9]

2
55+3+;r 28 - 10 (-10) +(-10)% —

1400016
-+ arg[ M] +argizy)
172 (-0.450374 - 3.9863irx |- +
2x
—-T+ arg[wl + argiag)
im|— ;” - 1.49315 log(zg) + 1.99315
T

& (-1)° (1.00503 - z)* z5° (1 (107267 — =X 25 ||
5. ) -
k=1 ll.l

—n+arg[ 1.0?26':-‘]

+arg(zsg)
-0.46934 +ix |-

+0.5 lng[z.;.} -
2

& (—1)F (1.07267 - zp ) =5
k

0.5

k=1

Integral representation:
0.99 -1+2 1ag[i )48 (-10 -4
~7+8 - 0.99 - 0.99" log 22422

1400016
oty 2 821835 o2 M1 4 5)
168.348 |ix - 0.5442109 d
—i a4y Il-s)

: 52033 2
. Ii-sy”Til+s
216942 [ ©7 € ik Js]]j-"f

g
55+3+Z 28 — 10 (-10) + (-10y° —

5+

—i sy Il -s)

foosy @2621835 [ o2

rl
[m-o.532553 : ”}45] for -1

i oty I(l-2s)

v — 1

4mi? (3y° — 1 2772
P T s sy | PR i . [_5+ 24042 — 270yd — 2254 (3y§ N 1)
3 5(3y5 — 1)

16y (_34 _ 1542 + 1353,,%) + 279y (y? _ 1) (3;,0 N 1)} 2 4. (102)

2Pi*3.36"2+((4Pi*3.36"2(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3)

Input interpretation:

27 3.36°
2r+3.36% + [4;r 3.36° [[3 =1y 0.0864055 + T

3057737 —1]] 5(3x0.5773% -1
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Result:
-2.68700... x 1012

-2.687...%10"

Alternative representations:

, 0.0864055  4((3 - 1)x 3.36%) 2 (r 3.36%)
2m3.367 + - + : =
Ix0.57732 -1 5(3x0.5773% 1)
0.691244 i log(-1) 3.36° 2ilog(-1)3.367
~2ilog(-1)3.36% - 108 oy PEEAREE)
-1+3x0.57732 5(-1+3x 0.5773%)
, 0.0864055  4((3 - 1)7 3.36%) 2 (r 3.36%)
2m3.367 + - + : =
Ix 05773 -1 5({3x0.5773% -1
. 124.424-3.36° 360 ° 3.367
360°3.36° + +
-1+3x05773% 5(-1+3x0.5773%)
, 0.0864055  4((3 - 1)7 3.36%) 2 (r 3.36%)
2m3.36° + ' ' -

+
Ix 057732 -1 5(3x0.57732 - 1)

2 cos }(-1) 3.36% 0.691244 cos1(-1)3.362 2 cos 1(-1)3.362
cos (-1 3. +

+
-1 +3x0.5773% 5(-1+3x0.5773%)

Series representations:

, 0.0864055  4((3 - 1)7 3.36%) 2 (m 3.36%)
2m3.36° + - 4+ ' -
Ix 057737 -1 5(3x0.5773% - 1)
12 (-1
-3.42119x10 —
b 2 1+2k
k=0
, 0.0864055  4{(3 - 1)x 3.36%) 2 (w 3.36%)
2m3.367 + - + : =
Ix 057732 -1 5(3x0.5773% -1
o Ek
1.7106x 10" - 1.7106 x 10" '
sz
k=1
, 0.0864055  4{(3 - 1)x 3.36%) 2 (w 3.36%)
2m3.367 + - + : =
Ix 057732 -1 5(3x0.5773% -1
* (-6 +50k)

® 9
~8.55299 % 10" Z
k=0

()
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Integral representations:

, 0.0B64055  4((3 - 1) 3.36% 2 (r 3.36%)
2m3.367 4 - + ' -
Ix 057732 -1 5(3x0.5773% -1
12 [o 1
~1.7106 % 10 f dt
Jo 1442
, 0.0864055  4((3 - 17 3.36% 2 (m 3.36%)
2m3.36% 4 - 4+ : =
Ix 05773 -1 5(3x0.5773% -1

1:
-3.42119x 10" [ V1=t at
Jio

, 0.0B64055  4((3 - 1) 3.36% 2 (r 3.36%)
2m3.367 4 - + ' -
Ix 057732 -1 5(3x0.5773% -1

_1.7106x 10" FM
Jo

4,——
£=2ey |2 S ol [ 5+ 249y — 270y — 2254 (3y§ - 1)
390 —1 5(3y2 — 1)
16y ( 34 — 1593 + 135y ) 1 270, (y - 1) (398_1)} 24 (102)

[((((-5+249%0.5773/2-270%0.5773/4-225(3*0.5773/2-1)+6(-34-
15%0.5773/2+135%0.5773/4)4279*(1-1)(3*0.577372-1))))]*0.08640552

Input interpretation:
(-5 +249 - 0.5773% - 270« 0.5773" -
225 (3x0.5773% — 1)+ 6(-34 - 15x0.5773% + 135 x0.5773%) +

279 (1 - 1)(3 ~0.5773° - 1)) - 0.0864055>

Result:
-0.7166597856943253006300131265

-0.71665978...
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(((2Pi*3.36"2+((4Pi*3.36"2(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))*(-
0.71665978569432530063001312650)

Input interpretation:

[2 mx3.36% + [ﬂm 3.36° [[3 -1 0.0864055 +

305773 - 1]]
27-3.36%

5(3x0.5773% -1}

] (—0.71665978569432530063001312650)

Result:
1.9256647335400362225817405046986181834256067985693843... x 102

1.925664733...*%10"

Alternative representations:

(4(3 - 1) 3.36%) 0.0864055 2 r 3.367
3x0.57732 -1 5 (3 0.5773% - 1}3]

(-1)0.716659785604325300630013126500000 =

~0.716659785694325300630013126500000
0.691244 ; log(-1) 3.36° 2 ilog(-1) 3.36%
[—21103[—1}3.362— Lo s

[2 r3.36% 4

~1+3.057732  5(-1+3 .0.57732]
, (4(3-1)r3.36%)0.0864055 2 7 3.367
27 3.36% + : +
Ix0.5773% -1 5(3 x 05773 -1

(-1)0.716659785694325300630013126500000 =
~0.716659785694325300630013126500000
, 124.424°3.367 360 3.36%
360°3.36° +

N
~-1+3x0.5773%2 5(-1+3x0.5773%)

[2 532, (48-Dr 3.36%) 0.0864055 2 r 3.36° ]
aT O, +

i
I« 57732 =1 5(3x0.5773% - 1
(-1)0.716659785694325300630013126500000 =

~0.716659785694325300630013126500000
. , 0.691244 cos™(-1)3.36°  2cos'(-1)3.362
2rcos  (-1)3.36" +

N
-1+ 3 x@5773° 5(-1+3 =x0.5773%)
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Series representations:

, (4(3-1)73.36%) 0.0864055 2 n 3.367
2r3.36" + ' + -1y
Ix 057732 -1 5(3 x0.5773% - 1
0 [—l}k
0.716659785694325300630013126500000 = 2.45183x 10 )’ L
ko~ "
, [4(3-1)73.36%)0.0864055 2 7 3.367
2x3.36° + - +
3x0.5773% -1 5(3 x0.5773% - 1
(-1)0.716659785694325300630013126500000 =
L
~1.22592x 10" +1.22592x 10"
* =
k=1
k
, (4(3-1)r3.36%)0.0864055 27 3.367
2m3.36° + : + -1
3x0.5773° -1 5(3x0.5773% - 1

1S 2% (-6+50k)
0.716659785694325300630013126500000 = 6.12958 x 10" " ———————

= [BKJ
k
Integral representations:
, (413 -1)73.36%) 0.0864055 2 3.367
21 3.36° + : - -1y
Ix0.5773% -1 5(3x0.5773% -1
w1
0.716659785694325300630013126500000 = 1.22592x10% [ T dt
0 +t
, (43 -1)x3.36%)0.0864055 2 3.367
21 3.36° + : - -1y
Ix 057737 -1 5(3 x0.5773% - 1

"1
0.716659785694325300630013126500000 = 2.45183 % 10" J v1-£ dt
i

, [4(3-1)73.36%)0.0864055 2 7 3.367
2r3.36° + : - -1y
Ix0.5773% -1 5(3x0.5773% — 1
“o SIN()
0.716659785694325300630013126500000 = 1.22592x10* [~ -
il
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((([(((2Pi*3.36"2+((4Pi*3.3672(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))))"1/4

Input interpretation:

[[zn 3.36° + [4}1' 3.362 [[3 - ) 0.0864055 +

3x0.5773% - 1]]
21 3.362

5(3x0.5773% -1}

] [—D.?15559?85594}]"[l;‘ﬂr}

Result:
1178.00...

1178.00...

/107 27((((((((((T(((2Pi*3.36"2+((4Pi*3.362(3-1)* 1/(3*0.5773/2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))]*(-
0.716659785694)))))* 1/4)) 1/15+16/1073+54/1073)))

Input interpretation:

1
7[[[[% 3.352+[4n 3.36° [[3-1+ —]] 0.0864055 +
107 3x0.5773% -1
2 n % 3.362 ]
5(3x0.5773% -1
R R 16 54
(-0.716659785604 | ™ (1/4]| ™ (115 )+ — + —
17 108
Result:

1.67230... x 107%7

1.6723...%10% result practically equal to the proton mass

Alternative representations:
1 [[[ (4(3 - 1)x 3.367) 0.0864055 21 3.36% ]
= +
142 3x0.5773% -1 5(3x0.5773% -1

273.367 +

- " 16 54
(—0.7166597856940000)| ™~ (1/4| ™1/ 15+ — + — |=
10 10°

20 415 4f ~0.7166597856940000 [Bﬁac 3.362 4 12442473367 | 360°3367 7_3]
10 M =143 05773 31-143 = 0.53773¢]

102?
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1 2 [4[3—1}}T3.352}D.C|854U55 2 1 3.362
—_— 273.36% + :

%
10%7 3 x0.5773% -1 5(3x0.5773* - 1)
= 5% 16 54 1
(—0.7166597856940000)| ~ (/4| ~(1/151+ — + — |= —
10°  10° 10°7
70 0.691244 cos (- 1) 3.362
[— i [[-G.?15559?85594DDDO [2 cos 1(-1)3.36% + } +
102 -1+3x057732

2eos~H(=1)3.36% 2. .. ).
o (/4|7 (1/15)
5(-1+3 0.5773°)

, [4(3-1)73.36%) 0.0864055 2 7 3.36°
— |27 3.36° + ' -
10%7 3 x0.5773% -1 5(3x0.5773* - 1)}
- A 16 54
(-0.7166597856940000)| ~ (1/4)| ~(1/15)+ — + — | =
10° 107
1

1.38249 E(0) 3.36°
"
~1+3-057732

4 E(0)3.367 ” -
-5 || LT 1S
5(-1+3 x0.5773%)

70
- [— +[[—D.?15559?85594DDDD [45[0}3.352 +
10%7 | 10°

Series representations:

1 [[[[2 . (4 (3 - 1) 7 3.367%) 0.0864055 2w 3.36% ]
eI T 3. + +
1427 I x0.57733 -1 5(3 x0.5773% - 1P
[—D.?lﬁﬁSQ?ESEQﬁLDDDG}] o [1;4}] ~(1/15)+
16 54 B e
—+ —3]: 7.x107% + 1.60876 x 10" 6] ) T
10* 10 il
[[[[2 _— (4 (3 - 1) 3.367) 0.0864055 2 1 3.367 ]
e ma. + +
1627 Ix0.5773% -1 5(3 x0.5773% - 1
- " 16 54
(-0.7166597856940000)| ~ (14|~ (1/15)+ — + — | =
10 10°

| &

gk

)

7.%x107%° + 1.50028 x 10727 ‘ _Ti

Eﬂ K

[}
—
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1 [[[[2 — (4 (3 - 1) 3.367) 0.0864055 2 1 3.367 ]
e Figte + +
10%7 3 %x0.5773% -1 5(3x0.5773* - 1)}

16 54
[-o.?15559?85594mnm] i [1;4}] SIS — _] -
10°  10°

® 2% (_6+50k)

)

7.x107%° + 1.57202x 1077

80l 1= [3 k J
k
Integral representations:
1 5 [4(3-1)r3.36%) 0.0864055 2w 3.367
—||{|273.36° + ; -
1627 3 x0.5773% -1 5(3 x0.5773% - 1

[—D.?15559?85594DDDG}] i [1,"4}] “(1/15)+

———

w1
— 7.x107%° +1.59028x 1027 e9| j“’ dt
Vo 1+ t2

En
10®  10°

16 54 ]

102?

[[[[2 p— (4 (3 - 1) 7 3.36%) 0.0864055 2w 3.36% ]
T J. i

i
Ix0.5773% -1 5(3x0.5773% -1

- " 16 54
(-0.7166597856940000)| ~ (1/4)| " (L/15)+ == + == | =

10°
"1
?.xlﬂ'29+1.5D8?5x1G'2?5'3'\/I Vi-t® at
Jo

102?

, (413 -1)73.36%) 0.0864055 27 3.36°
273.36° + ; -
Ix05773% -1 5(3 x0.5773* - 1

[—D.?lﬁﬁSQ?ESﬁQtLDDDG}] e [1;4}] ~(1{15)+

: MR
16 54
¥; —] =7.x107%° +1.50028 x 10727 60

“aa SIT(E)
e j dt
10°  10° Vo ot
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(((((((Q(((2Pi*3.36"2+((4Pi*3.36°2(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-
0.716659785694))))) 1/4))*1/15+16/10"3

Input interpretation:

[[[2 mx3.36% + [4;r 3.36° [[3 -1 0.0864055 +

3.0.5773° - 1]]
21 3.367

5 (3057737 -1

16
] [—D.?16659?85694}]"[l;‘41]"[1;‘ 15) + E

Result:
1.618296969473608327069009820429020945912738165738601166552...

1.61829696947... result that is a very good approximation to the value of the golden
ratio 1,618033988749...

Alternative representations:
, [4(3-1)x3.36%) 0.0864055 2 r 3.362
273.36 + ' -
Ix0.5773% -1 5(3 x0.57732 1)

16
(-1 D.?15559?35594DDDD] & [l;'ih] {1715y + E -

124.424 = 3.36°
+
~1+3x0.57732

]]"‘ tlfﬂr}]" (1/15)

16
E - [[—D.?15659?85594DDDD [350 = 3.36% +

360 3.367
5(-1+3 05773

, (4(3-1)x3.36%)0.0864055 27 3.362
2m3.367 + ' -
3x0.57732 -1 5(3 x0.5773% 1)

16
o 1}0.?15559?855940000]’“ [l,-'ih]’“ (1/153) + E -

0.691244 cos 1(-1)3.36°
~1+3x0.57732

a ]]"‘ [lx"H]'“‘ (1/15)

16
E - [[—D.?15559?85594DDDD [2 cos '(-1) 3.36% +

2 cos 1(-1) 3.367
5(-1+3x0.5773
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, [4(3-1)r3.36%)0.0864055 27 3.36
273.36% + : -
3.0.5773% -1 5(3x0.5773% - 1

16
[—1}D.?16659?85694DDDD]" [1;4}]’* A/15)+ = =

1.38249 E(0) 3.36°
o
-1+3.-0.5773°

16
Tt [[-o.?15559?355940000 [4 E(0)3.36% +

4 E(0) 3.36° " R
=0 (1/4 |7 (1/15)
5(-1+3 0.5773°)

Series representations:
, [4(3-1)x3.36%)0.0864055 2 3.36°
27336 + : -
Ix0.5773% -1 5(3x0.5773% 1)

(-1} D.?15559?85594DDDD] (14 4}] o

16 o 2
i1;/151+ — =0.016 + 1.60876 &0 }
10° 1" 1+2k

k=0

, [4(3-1)x3.36%)0.0864055 27 3.362
2m3.367 + ' -
3x0.5773% -1 5(3 x0.5773% - 1)

—1) D.?15559?35594DDDD] s [1}4}] s

(1/15) i 0.016 +1.59028 |-1 i 5
! + — =1 + 1. -1+
10° B0 i [2 kJ
\ k
, [4(3-1)x3.36%)0.0864055 27 3.362
2m3.367 + ' -
3x0.5773% -1 5(3 x0.5773% - 1)

—1) D.?15559?35594DDDD] s [1}4}] (115 +

16 @ 9k 6+50k
— =0.016+157202 | Y’ 3—;}
10 GDiki‘ [ ; ]
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Integral representations:
[ (4(3 - 1)« 3.36%) 0.0864055 2z 3.362 ]

2r3.36% + 4
3x0.5773% -1 5(3 «0.5773% - 1)°

(-1) D.?15559?85594DDDD] (14 41] <
—

16 "o 1
(1/15)+ — = 0.016 + 1.59028 6D||J dt
10? Vo 1+
, [4(3-1)x3.36%)0.0864055 2z 3.36%
27336 + : -
Ix0.5773% -1 5(3x0.5773% 1)

(-1} D.?15559?85594DDDD] (14 41] o

16 [
(1/15)+ — =0.016 + 1.5(:'3?560\( [ V1-t2 at
Jo

, [(4(3-1)73.36%)0.0864055 2 r 3.36
273.36% + : -
3x0.5773% -1 5(3 «0.5773% - 1)°

(-1) D.?15559?85594DDDD] (14 41] <

AN
16 [ e sinit)
(1/15)+ — = 0.016 + 1.59028 89| [ dt
10° \ Jo

1/8(((([(((2Pi*3.36"2-+((4Pi*3.3672(3-1)*1/(3*0.57732-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))) ) 1 /4-
8-4-1/4

Input interpretation:

1
3 [[2 mx3.36% + [4;r 3.36° [[3 -1) 0.0864055 +

3.-0.5773% - 1]]
27+ 3.36°

5({3x0.5773% -1}

1
] [—D.?15659?85694}] (14 -8-4- 7

Result:
135.000...

135 (Ramanujan taxicab number)

48



Alternative representations:

1 , [4(3-1)r3.36%)0.0864055 2 r 3.362

— |27 3.36° + ' -

8 3 x0.5773° —1 5(3 x0.5773% - 17

[—D.?15559?85594DDDD}] il -

1 11
8-4--=-12- -+ = [-0.7166597856940000
4 4 8
o 124.424-3.36° 360 = 3.367 L
360=3.36° + - (1/4)
=1 3% 057737  5(-14+3x0.5778°)
1 , [4(3-1)r3.36%)0.0864055 27 3.367
—1|273.36° + : -
8 3 x0.5773% -1 5(3x0.5773% — 1

1
[—G.?15559?85594DDDD}] U

1 1
-12- -+ A [—D.?15559?35594DDDD [2 cos '(-1)3.36° +

I

0.691244 cos™'(-1)3.36°  2cos}(-1)3.367 ).
- (1/4)
=1+ 3 x0.5773° 5(-1+3x0.5773°)

ool

[[2 e (4 (3 - 1)x 3.367) 0.0864055 2 r 3.36% ]
TJd. +

+
3 x0.5773% -1 5(3x0.5773% - 1¥
[—D.?15559?85594DDDD}] ~ (14 -

1 1
B-4--=-12- 1 - B [—D.?15559T85594DDDD

1
4

1.38249 E(0) 3.36% 4 E(0) 3.36°
[45[0}3.352 + e

5
-1+3.05773% 5(-1+3 05773

Series representations:

1 , [4(3-1)73.36%)0.0864055 21 3.36%
— 1|27 3.36° + ' +
8 3 x0.5773% -1 5(3 x0.5773% -1
[—D.?15659?85594DDDD}] (L) -
1 ‘ L 11"‘
8-4-- =-12.25+156.417 4/
4 i 1+
k=0
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o0

, (4(3-1)73.36%) 0.0864055 2 7 3.36
2m3.36° + ' -
3 x(.5773% —1 5(3x0.5773% - 1)

[—D.?16659?85594DDDD}] Tl -

1 o
8-4-- =-12.25+131.53 -1+Z
il 4 21{}
k=1
\ k
1 , (4(3-1)73.36%) 0.0864055 2 r 3.36%
—12x3.36° + - +
8 3 x(.5773% —1 5(3x0.5773% - 1)}
[—D.?16659?85594DDDD}] (1) 4) -
1 ® gk 27 (-6+50k) 6 +50k)
8-4- e -12.25 + 110.603
4

< (%)

Integral representations:

1 , [4(3-1)r3.36%) 0.0864055 2 3.36%
—[|273.36 + ' -

8 3 x0.5773% -1 5(3 x0.5773% - 1Y

[—D.?16659?85594DDDD}] il -

——
1 o
8-4_- —_12.25+131.53 4”
4 \ o
1 , [4(3-1)73.36%)0.0864055 21 3.36%
— 1|27 3.36° + ' +
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?16659?85594DDDD}] ~ 14 -
1 "1
8-4-2 =-12.25+ 155.41?4\” v1-t* at
il
1 , [4(3-1)x3.36%)0.0864055 27 3.362
— |27 3.36" + ' -
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?16659?85594DDDD}] ~l/4)-
1 sin(t)
8-4-7 =-12.25+13153 4(J
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1/8(((([(((2Pi*3.36"2-+((4Pi*3.36"2(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))))" 1 /4-
5-4-1/4

Input interpretation:

1

- [[zn 3.36° + [4}1' 3.36° [[3 -1)
8

2 7> 3.36%
5({3x0.57738% -1}

m n 0.0864055 +

1
] [—D.?16659?85694}]" (1/4)-5-4- ”
Result:
138.000...

138 (Ramanujan taxicab number)

Alternative representations:
(43 - 1) 3.367) 0.0864055 2 r 3.367 ]

+
3 x0.5773% -1 5(3x0.57732 -1

1
= [[2 r3.36% +
8

[—D.?15559?35594DDDD}] il -

1 1
=-9- p) + 8 [—D.?lﬁﬁ59?85594DDDD

1
iy e
4

124.424 = 3.36° 360 ° 3.367 ]]A
il/4

[35(:1 °3.36% + +
~-1+3.057737 5(-1+3-05773%

(4 (3 - 1) 7 3.36%) 0.0864055 2 3.36 ]

[[2 r3.36% + -
3 x0.5773% -1 5(3x0.57732 -1y

=R

1
[—G.?15559?85594DDDD}] (14 -5-4- a

1
g faiet P [—D.?16559?85594DDDD [2 cos '(-1) 3.367 +

£l =

0.691244 cos '(-1)3.36° 2 cos !(-1)3.36 ]]A[ o
+ !
~1+3.0.5773% 5(-1+3 05773
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(4 (3 - 1)x 3.36) 0.0864055 2 x 3.36 ]
+
3x0.5773% -1 5(3 x0.5773% — 1y

ool

[[2 r3.362 4

[—D.?15559?85594DDDD}] YT

1 1 1

LTy, ploge ) Fub e [—D.?15559?85594DDDD

4 4 8

1.38249 E(0) 3.36% 4 E(D) 3.36°

+ il 4
~1+3x057732 5(-1+3 D.S??32}3]]

[45[013.352 +

Series representations:
(4(3 - 1)x 3.367) 0.0864055 27 3.36° ]

;
3 x0.5773% -1 5(3 x0.5773% -1

1
= [[2 r3.36% +
8

(—0.7166597856940000)| ™ (1/4) -

542 9.25 + 156.417 U
g = eI L 1+2k
1 , (403 -1)rx3.36%)0.0864055 2 3.362
—|273.36° + - +
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?15659?85594DDDD}] ~(1)4) -
1 & .o
5-4_-- =-0.25+131.53 -1+Z
4 4 [Ek J
k=1
\ k
1 , (403 -1)rx3.36%)0.0864055 2 3.362
—|273.36° + - +
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?15659?85594DDDD}] ~(1)4) -
1 @ 2% —6+50k)
5-4-Er = -0.25+110.603 Z‘ . Bt

R
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Integral representations:
1 , [4(3-1)73.36%) 0.0864055 2 3.367
5 2m3.36° + '

+
3 x(.5773% —1 5(3x0.5773% - 1)}

[—D.?16659?85594DDDD}] Tl -
—

1 w1
5-4-- =-9.25+131.53 4|'[ dt
4 1I|| Joo 1442
1 , [4(3-1)r3.36%)0.0864055 2 7 3.36°
— |27 3.36"° + ' -
8 3 x0.5773% -1 5(3 x0.5773% -1
[—D.?15559?35594mam] (114 -
1 3
5-4- - =-9.25+156.417 {f [ V1-t at
4 Jo
1 , (4(3-1)73.36%) 0.0864055 2 7 3.36
— 1|27 3.36° + ' -
8 3 x(.5773% —1 5(3x0.5773% - 1)}
[—D.?15559?35594mam] ~(l/4)-
—
1 [ e sinit)
5-4-- =-9.25+131.53 4 [ dt
4 \ Jo

1/8(((([(((2Pi*3.36"2+((4Pi*3.36/2(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))))" 1 /4-
5-4+34-1/4

Input interpretation:

1
5 [[zn 3.36% + [4,1r 3.36° [[3 - 0.0864055 +

3 .:._5??32_1]]
27+ 3.36°

5{3x0.5773° -1

1
] [—D.?16659?85694}] ~(ljh-5-4+34- 3

Result:
172.000...

172 (Ramanujan taxicab number)
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Alternative representations:

1 , [4(3-1)r3.36%)0.0864055 2 r 3.362

— |27 3.36° + ' -

8 3 x0.5773° —1 5(3 x0.5773% - 17

[—D.?15559?85594DDDD}] il -

1

1 1
S5-4+34- g 25 - ats [—D.?15559?85594DDDD

o 124.424-3.36° 360 = 3.367 L
360=3.36° + - (1/4)
=1 3% 057737  5(-14+3x0.5778°)
1 , [4(3-1)r3.36%)0.0864055 27 3.367
— 127 3.36% + : -
8 3 x0.5773% -1 5(3x0.5773% — 1
1
[—G.?15559?85594DDDD}] “QD-5-4+34- - =
1 1 1 2
/- g ~0.7166597856940000 |2 cos '{-1) 3.36° +
0.691244 cos™'(-1)3.36°  2cos}(-1)3.367 ).
- (1/4)
=1+ 3 x0.5773° 5(-1+3x0.5773°)
1 , [4(3-1)x3.36%)0.0864055 2 7 3.367
— |27 3.367 + ' -
8 3 x0.5773% -1 5(3x0.5773% - 1¥

[—D.?15559?85594DDDD}] Tl -

1
5-4+34--=25- -+ 8 [—D.?lﬁﬁ59?85l594DDDD

=

1
4

1.38249 E(0) 3.36% 4 E(0) 3.36°
[45[0}3.352 + e

5
-1+3.05773% 5(-1+3 05773

Series representations:

1 , [4(3-1)73.36%)0.0864055 21 3.36%

— 1|27 3.36° + ' +

8 3 x0.5773% -1 5(3 x0.5773% -1

[—D.?16659?85594DDDD}] il -

LI [

k=.;.1+2k

5-44+34- +15541?4!

1 99
4 4
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o0

[[2 _— (4 (3 - 1)7 3.367) 0.0864055 2 1 3.367 ]
T a. T

+
3 x(.5773% —1 5(3x0.5773% - 1)}

[—D.?16659?85594DDDD}] Tl -

&

Ek
(%)
k
(4(3 - 1)x 3.36%) 0.0864055 2 7 3.36 ]
+
3 x(.5773% —1 5(3x0.5773% - 1)}

5-4+34-

= 2475 +131.53 |-1+
4

-"i k

| =
I

[[2 r3.36% +

o0

[—D.?16659?85594DDDD}] Tl -

1 99 % 20k
5-4+34-- = — +110.603 L—}
4 4 4 [Bk J
k=0
\ k
Integral representations:
1 , |43 -1)x3.36%)0.0864055 2 7 3.362
— |27 3.36" + ' -
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?16659?85594DDDD}] (14 -
—_—
1 99 w1
5-4+34_—=—+131534U‘” dt
4 4 Voo 1+t?
1 , [4(3-1)73.36%)0.0864055 21 3.36%
— 1|27 3.36° + ' +
8 3 x0.5773% -1 5(3 x0.5773% - 1Y
[—D.?16659?85594DDDD}] ~(l)4)-
1 99 "1
5-4+34-- = —+155.41?4\/J Vi-t* at
4 4 0
1 , |43 -1)x3.36%)0.0864055 2 7 3.362
— |27 3.36" + ' -
8 3 x0.5773% -1 5(3 x0.5773% - 1Y

[—D.?16659?85594DDDD}] il -

“eo SINV(E
=2 13153 4”“”1[ ! at
4 Y Jo £

1
- G
4
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We have also:

((([(((2Pi*3.36"2-+((4Pi*3.3672(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))))*1/3 -
843-123-7

Input interpretation:

[[2}1’ 3.36% + [‘hr 3.36° [[3 <7y ]] 0.0864055 +

3x0.5773°2 -1
2 1+ 3.36°

5(3x0.5773% - 1)

] [—D.?16659?85594}]A (1/3)-843-123-7

Result:
11468.1...

11468.1 = 11468 (Ramanujan taxicab number)

Alternative representations:
,  [4(3-1)x3.36%) 0.0864055 2 r 3.362
273.36° + : -
Ix0.57732 -1 5(3x0:57732 - 1P

(—1) D.?15559?85594DDDD] (13-

B43-123-7=-973 + [—D.?16559T85594DDDD

o 124.424-3.36° 360 ° 3.367 R
360 ° 3.36° + (1/3)

i
~1+3.0.5773% 5(-1+3-0.57737p

[[2 o (4 (3 - 1)x 3.36%) 0.0864055 2 1 3.367 ]
TJa. +

+
Ix0.5773 -1 5(3x 057732 -1
(1) o.?15559?355940000] ~{1/3)-843-123-7 =

-973 + [—D.?15559?85594DDDD [2 cos '(-1)3.36% +

0.691244 cos '(-1)3.36°  2cos '(-1)3.367 ]]A[ -
+ !
~1+3+0.5773? 5(-1+3 0.5773%)
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[[2 _— (4 (3 - 1)r 3.367) 0.0864055 2 r 3.367 ]
T Ja. +

i
3+ 0.5773% -1 5(3 - 0.5773* - 1)

(-1) D.?15559?85ﬁ94DDDD] 13-

843-123-7=-973+ [—D.?15559?85594DDDD

2 2
[45[0}3.352 . 1.38249F(0)3.36 4 E(0)3.36 } ]]"[1;3}

+
=1+3x05773%  5(=1+3x0.5773%)

Series representations:
(4(3 - 1) 3.36%) 0.0864055 2 3.36° ]

+
Ix0.57732 -1 5(3x0.5773% -1

[[2 73.36% +

(—1)0.7166597856940000 | (1/3) -

LSS

843 _123_7 = 073+ 13484.4
=dach 3é1+2k

[[2 — (4(3 - 1)x 3.36%) 0.0864055 2 3.367 ]
mJa. +

+
3x0.57732 -1 5(3 x0.57732 -1
(-1} D.?15659?85694DDDD] ~(13-

el 2.5:
B43-123-7 =-973.+10702.5 -1+’

3 2k
k=1

k

, (4i3-1)x3.36%)0.0864055 2 3.367
2m3.367 + : +
3x0.57732 -1 5(3 x0.57732 -1

(—1)0.7166597856940000 | ™ (1/3) -

@ 2% (_6+50k)
843 - 123 -7 — —073 + 8494.61 e M
973 + 849 2‘ =
k=0 [r{ ]

e
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Integral representations:
[ (4(3 - 1) 3.36%) 0.0864055 27 3.367

213.36% + 7
3057737 -1 5(3x0.5773% - 1)

(-1) D.?16659?85594DDDD] (13-

—

8431237 = ~973+10702.5 4 f‘” gt
"II Joo 14¢2

(4(3 - 1)x 3.36%) 0.0864055 27 3.362
+
Ix0.57732 -1 5(3x0.5773% -1

[[2 73.36% +

(-1) D.?16659?85594DDDD] 13-

"1
843—123—?:—9?3+13484.4{/{ v1-2 at
Jo

(4(3 - 1) 3.367) 0.0864055 2 7 3.36°
+
3057737 -1 5(3x0.5773% - 1)

[[2 13.36% +

(-1) D.?16659?85594DDDD] (13-

at

[ oo sint)
843 -123 -7 =-973 +10702.5 ‘5;‘| f

il

((([(((2Pi*3.36"2+((4Pi*3.3672(3-1)*1/(3*0.5773"2-
1)))*0.0864055+(2Pi*3.36"2)/(5(3*0.5773"2-1)"3))))]*(-0.716659785694)))))*1/3 -
843-123-322+8

Input interpretation:

[ 2 7% 3.36% + [4:r 3.36° [[3 -1 0.0864055 +

3.0.5773° - 1]]
27 3.36°

5(3x0.5773% -1}

] [—D.?16659?85594}] ~(1/3)-843-123-322+8

Result:
11161.1...

11161.1... = 11161 (Ramanujan taxicab number)
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Alternative representations:
, [(413-1)x3.36%) 0.0864055 2 r 3.36
273.36% + : +
3.0.5773% -1 5(3 x0.5773% -1

(-1) D.?16659?85594DDDD] (13-

843 -123-322+8=-1280+ [—D.?15559?85594DDDD

[35uc3352 124.424° 3.36% 360 ° 3.36° ]]"[1;3}
. + +
~-1+3x0.5773% 5(-1+3x05773%¢
[[2 o (4 (3 - 1)x 3.36%) 0.0864055 2 1 3.367 ]
T Ja. + +
Ix0.5773 -1 5(3x 057732 -1

(-1) D.?15659?85594DDDD] “(1;3)-843-123-322+8 =

-1280 + [—D.?lﬁ559?85594DDDD [2 cos '(-1)3.36% +

0.691244 cos '(-1)3.36°  2cos '(-1)3.367 ]]A[ -
+ !
~1+3+0.5773? 5(-1+3 0.5773%)

[[2 — (4(3 - 1) 3.367) 0.0864055 2 3.367 ]
mTa. +

+
3x0.57732 -1 5(3 x0.5773% -1y
(-1 G.?15559?85694DDDD] ~(113-

B43-123-322+8 =-1280 + [—D.?16559?85594DDDD

1.38249 E(0) 3.36° 4 (D) 3.367
[4!:"[0}3.352 + ! } } e § i)

+
21+3x05773%2  5(=1+3x0.5773%)¢

Series representations:
, [4(3-1)73.36%) 0.0864055 21 3.36
2m3.36% 4 ' +
Ix0.57732 -1 5(3 x0.5773° -1

(-1 D.?15659?85694DGGD] (13-

843 -123-322+8=-1280+13484.4 5
1+2k

EDe



[[2 _— (4(3 - 1) 3.36%) 0.0864055 2 1 3.367 ]
Ta. +

+
3057737 -1 5(3x0.5773% - 1)

(-1) D.?16659?85594DDDD] 1 BH-

a Ek
843-123-322+8=-1280+10702.5 ‘ -1+z
3 = [2 k ]
\ k
,  [4(3-1)r3.36%) 0.0864055 2 1 3.36°
2x3.36° + - +
3. 0.5773° -1 5(3 0.5773% - 1)

(-1) D.?16659?85I594DDDD] (13-

@ 2k 6450k
843 - 123 - 322 + 8 = —1280 + 8494.61 L A7 9 rauh)

< [3 k J
k
Integral representations:
, [(4(3-1)x3.36%) 0.0864055 2 3.367
273.36° + : +
3x0.57732 -1 5(3 x0.57732 -1

-1y D.?16659?85594DDDD] 13-

———

g 1
B43-123-322+8=-1280+10702.5 EJJM dt
"q R B

[[2 — (4(3 - 1) 3.36%) 0.0864055 2 1 3.367 ]
mTa. +

+
3x0.57732 -1 5(3 x0.57732 -1
(-1) D.?16659?85694DDDD] ~(1/3)-

"1
843—123—322+8=—128D+13484.4{/] v1-t* dt
o

[[2 — (4(3 - 1)x 3.36%) 0.0864055 2 3.367 ]
mJa. +

+
3x0.57732 -1 5(3 x0.57732 -1
(-1) D.?16659?85694DDDD] ~(1/3)-

sin(t)
t

B43-123-322+8 =-1280+ 107025 i{ jm
0
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Now, from:

One-loop corrections to 1/s in AdS4/CFT3
Ibere Kuntz, Roldao da Rocha - arXiv:1909.10121v1 [hep-th] 23 Sep 2019

c1 ca c3
real scalar  5(6€ — 1)2/(11520x%)  —2/(115207) 2/(1152072)
Dirac spinor —5/(1152072) 8/(11520m?) 7/(11520m72)

vector —50/(1152072) 176/(1152072)  —26/(11520x%2)

graviton 430/(1152072) —1444/(1152072)  424/(1152072)

Table 1: Values of the coefficients ¢; for each spin (£ is the non-minimal coupling coeflicient
of scalars to gravity) extracted from [39]. Each value must be multiplied by the number of
fields of its category present in the action S[®]. The total value of each coefficient is then

given by summing up all contributions.

m? = —2A
5 Arbér.
P=13 9.2
b + 3ri
r.=1; b*=2

c; =430/(11520Pi"2) ¢, =-1444/(11520Pi"2) c; =424/(11520Pi"2)
(Note that 11520 = 11468 + 52, where 52=34+21-3)
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The entropy is finally given by

S = (883 — 1)AT

_ Ay 8m(12¢ + 3cy + 2e3) Ay M? o T :
4 b’ toE (m? N _( b ) ' )
where A, = 4?.*?'_% 1s the horizon area and
2 2 trd\r 2 32
=FEN L aiaan - ?‘__(1—?"_/5)(1+3'?‘+/b)
=(F) = 04w (1201 + 3+ ) g 2T (1= 32 /)" (42)

+ I

)

(1 —r2/b%)(1 4+ 3r2 /b?)

A
T

= (-

b ) — 6472(12¢1 + 3¢ + 2c3)
S = (B85 — 1)AT
Ay

v 8m(12¢1 + 3ca + 2¢3) AL

© (1+72/8%)(1—3r2 /8%

M?

1 b?

64Pi*2(((12*430/(11520Pi*2)+3*-1444/(11520P
1/2)(1+3/2))((1+1/2)(1-3/2))))

Input:

430
64 2 [[12

N
11520 »°

1444
11520 7%

424
11520x°

3 )+2

Exact result:
419
54

Decimal approximation:

)

2
m”

log (

i72)+2%424/(11520Pi"2)))*1/2*(((1-

|

1-2)0+3)

L2 li=3)

-7.75925025025092502502502502502509250250250925025925025925925...

-7.75925...
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Alternative representations:

12 430 | 3(-1444) 2 424 | 1 3
[Eﬂﬁz]{115:21:1,1E i 115:2::1,121 + 1152:3,13}[[1_ E}[1+ E” 40224002

2(1+51-3) T T

(04) (000 - 2t L 24 )(1-2)(1+2) 67040018077
2((1+3)(1-32) 2 (115200180 %)

[64H2] [111252:'102 = flf_slzfjg & 1215;-_4|:|2:E P[[l B zl}[l = 3” s 67040 cos '(-1)°
2((1+3)(x-2) 2 (11520c0s™(-1?)

Or, forr=1.94973e+13

= (7Y = 64021961 + 3cs 4 20t L= Ta/0) (1 + 373 /67)
_( : ) = 647 (121 + 302 + 20) 55 (T ) (T3 )

64PI*2(((12*430/(11520Pi"2)+3%*-
1444/(11520Pi*2)+2*424/(11520Pi2)))*(1.94973e+13)"2/2*(((1-

1.94973e+13/2/2)(1+3%1.94973e+13/2/2))/((1+1.94973e+132/2)(1-
3*%1.94973e+1372/2))))

Input interpretation:

. [12 430 3[ 1444 ] 5 424 ]
m + 3] +
11520 7° 11520 7° 11520+°

(1- ; (1.94973 - 1037} (1+3 [; (1.94973 - 10°))

(1+2(1.94973 - 101%F)(1-3(1 (1.94973 - 1072

1
(5 (1.94973 1.:.13}2]

Result:
1.7697848039389999999099999875851851851851851851851852... x 10%7

1.7697848039...*10%
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We have that:

((12%430/(11520Pi*2)+3%-1444/(11520Pi*2)+2*424/(11520Pi*2)))

Input:
- 430 3[ 1444J 424
—— ta|- +
11520 #° 11520 »° 115207°
Result:
419
2880 n°

Decimal approximation:
0.014740824981298446609369963571137458576710530065163647210...

0.014740824981....

Property:
419

I1s a transcendental number
2880 n°

Alternative representations:
12430 3(-1444) 2424 1676

+ + =
115207 115207 11520+° 11520(180°F

12430 3(-1444) 2. 424 1676
+ + =
115207° 11520x° 11520 69120(2)

12430 3(-1444) 2 424 1676
+ + =
115202 11520x° 11520#° 11520 (-ilog(-1)?

Series representations:
12430 3(-1444) 2 424 419

+ + =
11520 7* 11520x° 11520x° e (-1 )2
46080 (), =)

12430 3(-1444) 2 424 419

- + =
115202 11520+ 11520#° o (-1F 1105712k (5142k_4 . p3ol42K)
46080 » -
=0 1+2k

12430 3(-1444) 2424 419

+ + =
11520 11520x* 11520x° ZSSD[ZZL:[‘fk[lfn* 2 3:4;:}]2
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Integral representations:
12430 3(-1444y 2. 424 419

+ +
115202 11520x% 11520x° 4503(3[_;;14142 dt]z

12 - 430 3(-1444) 2 .424 419
+ + =
115202 11520x% 11520+° 11520((*-1 g¢F
j31+r3 }
12 430 3(-1444) 2 .424 419

+ +
115202 11520x° 11520x° 5 4
11520 dt

V12

From

S = (B0s—1)AT
Ay " 8m(12¢1 + 363 + 2c3) AL I (_.-".J?) i (r_+> !

4 b? :

m*
We obtain:

APi/4+1/2(((8Pi*((419/(2880 2)))*4Pi))) In ((1.312806e+402)/(-2*1.1056¢-52))-
7.7592

Input interpretation:
1 41 1.312806 - 10%)
= [ 4 4.?TJ lug[ [ )

do—+— |87 8
2880 r* 23 1.1056 = 1032

_7.7592
472 2

log(x) is the natural logarithm

Result:

702.3100... +
7.312930...

Polar coordinates:

r=702.348 (radiu , 8= 0.506581° ancle
702.348

65



Or forr = 1.94973e+13:

S = (B0g — 1)AT
A. B8m(12¢1 4 39 + 2¢3) AL | (_.-’1.-'[2) = (-mr)

b

= _|_ ¥ DO 9
4 b2 =\ m?2

((4Pi*(1.94973e+13)"2))/4+1/2(((8Pi*((419/(2880 1°2)))*4Pi*(1.94973e+13)"2))))
In ((1.312806e+40"2)/(-2*1.1056e-52))+ 1.7697848039389 x 10727

Input interpretation:
1
1[%[1.949?3 107 +
1 41
—[8}1' 2
2 2880
1.7697848039389 - 10%7

(1.312806 - 10}
4
2x1.1056 x 1072

4 (r (1.94973 m”]z]chg[—

logix is the natural logarithm

Result:
2.71699... x 10%° +
2.77997... % 10°7 ;

Polar coordinates:
r=2.71713x10%° (radius), & =0.586219° (ang

2.71713*10%

(((((4P1*(1.94973e+13)"2))/4+1/2(((8P1*((419/(2880
1°2)))*4Pi1*(1.94973e¢+13)"2)))) In ((1.312806e+40"2)/(-2*1.1056¢-52))+
1.7697848039389¢+27))*1/11-13-golden ratio

Input interpretation:

1 1 41
[[i (47(1.94973 107} + = [s;r ?

80 7%
]+ 1.76978480393809 m”]" 1121324

4(r(1.94973 10" 1]]

[ (1.312806 - 10%)
log| - :
2.1.1056 - 1072

logix is the natural logarithm

# iz the golden ratio

Result:

497.338... +
0.480093.. ¢
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Polar coordinates:
r=497.338 (radius), &= 0.0553091" (an:
497.338 result practically equal to the rest mass of Kaon meson 497.614

(((((4Pi*(1.94973e+13)2))/4+1/2(((8Pi*((419/(2880
1°2)))*4Pi*(1.94973e+13)"2)))) In ((1.312806e+40"2)/(-2*1.1056e-52))+
1.7697848039389¢+27))"1/14+5

Input interpretation:

1 1 41
[[i (47(1.94973 - 107)) + = [s;r ?

80 °
]+ 1.7697848039380 m”]" (1/14)+5

4(r(1.94973 1D13]2]D

| [[1.312395 1077}
D s
2% 1.1056 x 1072

logix is the natural logarithm

Result:

139.488... +
0.0990924...;

Polar coordinates:
r= 139488 racius), #=0.040703° (an;
139.488 result practically equal to the rest mass of Pion meson 139.57 MeV

(((((4Pi*(1.94973e+13)"2))/4+1/2(((8Pi*((419/(2880
1°2)))*4Pi*(1.94973e+13)"2)))) In ((1.312806e+40"2)/(-2*1.1056e-52))+
1.7697848039389¢+27))*1/14-11+golden ratio

Input interpretation:

1 13,2, 1 419 13,2
[[4 (47(1.94973 10 ]]+2(s;r e < Hr(1.94973 10 ]]]]

(1.312806 - 10%) i
log|- — |+ 1.7697848039389 107" |7 (1/14) - 11 +4
2%1.1056 x 1072

logix is the natural logarithm

# iz the golden ratio

Result:
125.106... +
0.0990024 .
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Polar coordinates:

r = 125.106 (radius), &= 0.0453822° (angl:

125.106 result very near to the dilaton mass calculated as a type of Higgs boson: 125
GeV for T =0 and to the Higgs boson mass 125.18 GeV

(((((4Pi*(1.94973e+13)2))/4+1/2(((8Pi*((419/(2880
°2)))*4Pi*(1.94973e+13)"2)))) In ((1.312806e+40°2)/(-2*1.1056e-52))+
1.7697848039389¢+27))"1/9-322+golden ratio”2

Input interpretation:
1

E 13,2, =
[[4 (47(1.94973 1077+ - [a;r

| [[1.3123% 109
08| —
2x1.1056 % 1072

419
2880 17

4(r(1.94973 - 10%°7) |

]+ 1.7697848039389 lDz?] ~(1/9)-322 + ¢°

logix is the natural logarithm

# iz the golden ratio

Result:

1728.40... +
2.34708.. ¢

Polar coordinates:
r =1728.4 (radius), &= 0.0778045° (angl;
1728.4

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729
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1/Pi*In(((((4Pi*(1.94973e+13)*2))/4+1/2(((8Pi*((419/(2880
1°2)))*4Pi*(1.94973e+13)"2)))) In ((1.312806e+40"2)/(-2%1.1056e-52))+
1.7697848039389¢+27))

Input interpretation:

x 132, L
[4 (47(1.94973 - 10°F) + 2 [sn

1
~ log 4(r(1.94973 m”jﬁ]n
n

2880
]+l.?69?848[)39389 m”]

[ (1.312806 - 104y
log| - - :
2% 1.1056 ~ 10732

log(x) is the natural logarithm

Result:
21.84262... +

0.003283490... i
Polar coordinates:
r=21.8426 radiu #=0.00861298° an.

)

21.8426 result very near to the black hole entropy 21.7656

1/e*In(((((4Pi*(1.94973e+13)2))/4+1/2(((8Pi* ((419/(2880
°2)))*4Pi*(1.94973e+13)"2)))) In ((1.312806e+40°2)/(-2*1.1056e-52))+
1.7697848039389¢+27))

Input interpretation:
[E (47(1.94973  10%32) + - [an
4 \, 1 = ’ ’ 2

419
2880 1%

]+1.?59?843n39389 mz?]

1
~ log 4(r(1.94973 m”]ﬁn
£

[ (1.312806 - 10%)
Og|—
2% 1.1056 x 1072

log(x) is the natural logarithm

Result:

25.24412... +
0.003794819...

Polar coordinates:
r=25.2441 radiu #=0.00861298° an.

)

25.2441 result very near to the black hole entropy 25.1327
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Now, we have:

: 06m? r2 r2 r2 (b? — r?

ATD = T(lﬁcl + 3¢y + 2¢3) [Iog (ﬁ) + 2log (1 + ?)] W (40)
(96Pi1"2)/3 * (419/(2880 2)) [((In((1.94973e+13)"2 / (-2*1.1056e-
52)1+2In(1-+((1.94973e+13)2)/2)))] (((1.94973¢+13)2(2-
(1.94973e+13)"2)N/(((2(2+3*(1.94973e+13)"2))))

Input interpretation:

1 . 419 (1.94973 . 101} 1 i
[[3[9%]} EEED;FJ[LDE[_E PREe e +210g[l+2[l.949?3 10 1]]

(1.94973 - 10 (2 -(1.94973 - 10"3))
2(2+3(1.94973 - 1013

logix is the natural logarithm

Result:
-8.88321... x 102®
9.26657... % 1028 ;

Polar coordinates:
r = 8.88369x10°% |

8.88369*10%

f#=-179.402°

*fa

3H((((((96PiA2)/3 * (419/(2880 m2)) [(((In((1.94973e+13)"2 / (-2*1.1056¢-
52))+2In(1+((1.94973e+13)"2)/2))] (((1.94973e+13)72(2-
(1.94973e+13)"2)))/((2(2+3*(1.94973e+13)"2)))))) 1/10

Input interpretation:
-3+

1 419 (1.94973 - 1013} 1 T
- (96 21} }[19 [- ! 1, 210g(1+ = (1.94973 10 1}
[[3' o 2880 1% . 2.1.1056 1072 N g[ Ta '

(1.94973 - 10" (2 - (1.94973 - 103
2(2+3(1.94973 - 10))

]’“ (1/10)
logix is the natural logarithm

Result:
743.814.. -
241.794
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Polar coordinates:
r = 782.128 (radius), &= -18.0079° (a

782.128 result practically equal to the rest mass of Omega meson 782.65

1/e In[(((((((((((O6Pi*2)/3 * (419/(2880 ©*2)) ((In((1.94973e+13)"2 / (-2*1.1056¢-
52))+2In(1+((1.94973e+13)°2)/2))))* (((1.94973e+13)"2(2-
(1.94973e+13)"2)N(((2(2+3*(1.94973e+13) 2]

Input interpretation:

1
- log

e
1.94673 » 1013
[é [9"5”2]} ai [[lng[ 1949 ] ]+Elng[1+é[l.949?3 1013]2]]

2880 2  2x1.1056 x 10752
(1.94973 - 10) (2 - (1.94973 1D13]2]]]

2(2+3(1.94973 - 103

logixy is the natural logarithm

Result:

245216... -
1.15189... ¢

Polar coordinates:
r = 24.5486 (radius), &= -2.68946° (a

24.5486 result very near to the black hole entropy 24.4233

2 In[(((((((96Pi"2)/3 * (419/(2880 ©"2)) (((In((1.94973e+13)"2 / (-2*1.1056¢-
52)+2In(1+((1.94973e+13)"2)/2))))* (((1.94973e+13)"2(2-
(1.94973e+13)"2)))/(((2(2+3*(1.94973e+13)"2)))))))))) | +golden ratio

Input interpretation:
1 419
2 log|| = (96 #*
Dg[[B[ }T]] 2880 »°
[[ [ (1.94973 » 103
log| - - :
2x1.1056 x 10732
(1.94973 - 10"%) (2 - (1.94973 1013]2]]]
+ g

2(2 +3(1.94973 - 102

1
]+ 2 lag[l + 5 (1.94973 m”]z]]
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logix is the natural logarithm

# iz the golden ratio

Result:

134.931... -
6.26232... ¢

Polar coordinates:
r = 135.076 (radius), &=—-2.65726° (ang

135.076 = 135 (Ramanujan taxicab number)

2 In[(((((((96Pi*2)/3 * (419/(2880 72)) ((In((1.94973e+13)"2 / (-2*1.1056¢-
52))+2In(1+((1.94973e+13)22)/2))))* (((1.94973e+13)"2(2-
(1.94973e+13)"2))/(((2(2+3*(1.94973e+13)"2))))))))))]+4+0.618034

Input interpretation:

1 5 419
2 lug[[é (96 ]] —

[[ [ (1.94973 - 10
log|--

s .
2 %1.1056 x 10732
(1.94973 - 10 (2 - (1.94973 - 10"3)%)

2(2 +3(1.94973 - 103))

1
]+ 2 1ag[1 + 2 (194973 1013]2}]

]] +4+0.618034
logixy is the natural logarithm
Result:

137.931... -
6.26232... ¢

Polar coordinates:

r=138.0V3 radius), &= -2.59954" (ang
138.073 = 138 (Ramanujan taxicab number)
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2 In[((((96Pi*2)/3 * (419/(2880 7*2)) (((In((1.94973e+13)*2 / (-2*1.1056e-
52))+2In(1+((1.94973e+13)22)/2))))* (((1.94973e+13)"2(2-
(1.94973e+13)"2)/(((2(2+3*(1.94973e+13)"2)))))))[+4+34-+0.618034

Input interpretation:

1 " 419
? hg[[g (56 ]] 2880 r*

[[ [ (1.94973 « 103}
la ' :

8 21.1056 102
(1.94973 . 10%)? (2 - (1.94973 - 1013))

2(2+3(1.94973 - 101%)?)

1
]+ 2 1ug[1 + 2 (194973 1013]2]]

]] +4+34+0.618034

logixy is the natural logarithm

Result:

171.931... -
6.26232.. s

Polar coordinates:
r =172.045 (radius), &=-2.08599° (a

172.045 = 172 (Ramanujan taxicab number)

From

f3e" ol = ypgty

We obtain:

135.076"3+138.073"3 > 172.045"3-1

From which:

1/P1(135.076"3+138.073"3 - (172.045"3-1))+golden ratio”"2
Input interpretation:

1
- (135.076% + 138.073° - (172.045° - 1)} + ¢°
T
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# iz the golden ratio

Result:
1382.68...

1382.68... result practically equal to the rest mass of Sigma baryon 1382.8

Alternative representations:

135.076% +138.073% - (172.045° -1}

+f =

kg
1+135.076% + 138.073° - 172.045°

T

+{-2 cos(216 7)°

135.076% + 138.073% - (172.045% -1}

+¢ =
1+135.076% + 1%8.()'.?33 -172.0453 T2
+[2 cas[—]]

ha

135.076° + 138.073% - (172.045° -1}

+@ =

Fi8
1+135.076% + 138.073° - 172.045°

180° +(-2 cos(216 *)°

Series representations:
135.076% + 138.073% - (172.045° -1} , ,  1083.9

. e e— ok

k=0 1+2k

135.076° +138.073° - {172.045° - 1) 2, _2167.8
+oo =g

: = Z.kl Ek]

135.0767 +138.073% -(172.045 - 1) 2, 4335.6
¢ =¢

T —w 2% (-6450K)
Lk_u 3kl

Integral representations:
135.076% + 138.073% - (172.045° - 1)

2167.8
. o
JJ 1412
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135.0767 +138.073% -(172.045° -1) , 1083.9
+@¢ =4 +

2 FV1-t? at

135.076° + 138.073% - (172.045° -1) , ,  2167.8
+ ¢

e
T ‘oo SME) g
Ui

1/4(135.076"3+138.073"3 - (172.045"3-1))-64-1/golden ratio

Input interpretation:
1 1
5 (135.076° + 138.073° - (172.045° - 1)) - 64 - =

# iz the golden ratio

Result:
1019.28. ..

1019.28... result practically equal to the rest mass of Phi meson 1019.445

Alternative representations:

1
: (135.076” + 138.073% —(172.045” - 1)) - 64 —

|

1
~64+ 1+ 135.076° + 138.073° - 172.045°) -

2 5ini54 %)
1 3 3 3 1
 (135.076° +138.073" - (172.045" - 1)) - 64 - ®
1 1
~64+ = (1+135.076° + 138.073° - 172.045" ) - - ——————
4 : 2 cos(2167)

1 1
: (135.076% + 138.073° - (172.045° - 1)) - 64 - - =
J 3

1

1
~64+ = (1+135.076° + 138.073° - 172.045% ) - - —————
4 © 2sin(bbb )
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From:

GUP black hole remnants in quadratic gravity
Ibere Kuntz and Roldao da Rocha - arXiv:1909.05552v1 [hep-th] 12 Sep 2019

We have:
S dovg | Sad Josos | 1
azmy, "V rr%m; 33I3¢1_4,m§ 73 I~
gen 3 : 2
ha | 25603 12803  8fnaq 8 @7)
T | . E¥ . B 2. .2 /3. 3 s T
2 2 | 403 V3azmi+[3, a4 agmy 3 ag V3.0
"3 | agm [ 3

1) /
Goeamd ] 264 | d iz 23
mljmp lh' 12“9’“4’»"'\,' _!4-1&271?,;1 7

f
Eq. (27) is displayed for ay =0, where fo, 0, = i:f I?}Gn'gmg - \/ 12950731'::.2 — 3ajm }33. For oy # 0,

the general solution having dozens of pages 1s opted not to be displayed here.

ap = —3.4118, o = 1.6734 and a3 = 2.1376

m, = 1.220910x10" GeV/c® or 2.176435(24)x10° kg

(128%1.6734/2)/(2.1376"2%(1.220910e+19)*2)+(8%6.9408e+18)/(3/(2/3)2.1376)+8/(
(37(1/3)*(6.9408e+18))

Input interpretation:

128+ 1.6734° 8. 6.9408 10'® 8
_|.

+
2.1376% (1.220910 - 10"y 3%3.21376  ¥3 .6.0408 10

Result:
1.24880... = 10%°

1.24880e+19
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((((37(1/3)2.1376*(1.220910e+19)"4+6.9408e+18))))/((((((6*2.1376*(1.220910e+
19 ))*(((12%1.673422%(1.220910e+19) 6+sqrt(144* 1.6734°4%(1.220910e+19) 2
“1/3%2.13763))*1/3)))))

Input interpretation:

(V3 +2.1376 (1.220910 - 10%)* + 6.9408 - 10™*) /

/
[[5 2.1376(1.220910 101‘-"}4}[12 1.67347 (1.220910 - 10™°)° +

f 1
\(144 1.6734% (1.220910 1.:.19]12_5 2.13?53]"[1;3}]

Result:
3.96629... % 107%

3.96629¢-40

fcsg g —

((((36*1.673472%(1.220910e+9) 6+sqrt(((1296*1.6734°4*(1.220910e+9)"8-
3%2.13763%(1.220910e+9)*12)))))*1/3

Input interpretation:

36+ 1.67347 (1.220910 - 10°)® +

f
\(1295 1.6734" (1.220910 - 10°)® - 3:2.1376° (1.220910 - 10°)"? [~ (1/3)

Result:
6.93969... x 10 +
1.24107... % 107 ;

Polar coordinates:
r = 65.9408 x10'® (radius
6.9408e+18

A = 1.02455% (anole

]
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4(1.6734)/(2.1376%1.220910e+19)+sqrt2*(((((8* 1.6734°2)/(2.13762%(1.220910e+1
9)A2))+(6.9408e+18)/(37(2/3)*2.1376*(1.220910e+19)"4))+1/(3°(1/3)*6.9408¢+18))
NA1/2

Input interpretation:

1.6734
= +
2.1376%1.220910 « 101°
‘E\f[[ 8 1.6734° 6.9408  10'®
_|.
2.1376% (1.220910 - 10y 3%%..2.1376(1.220910 - 10'°)*

1
V3 - 6.9408 108

Result:
4.46982... x 1071°
4.46982¢-10

And, with minus sign:

Input interpretation:
1.6734

2.1376 - 1.220910 - 10'°

"E\f[[ 8.1.6734° 65.0408 10'®

+
2.1376% (1.220910 - 10y 3%%.2.1376(1.220910 - 10'%*
1
V3 . 6.9408 10"

Result:
-4.46982. . % 1071

-4.46982¢-10

((256*1.6734"3)) /
[2.137673%((((4*1.673472)/(2.1376"2*(1.220910e+19)"2)+3.96629 x 107-40)))*1/2]

Input interpretation:
256 » 1.6734°

2.13?53\(' 4167347 +3.96629 10~

213767 (1.220010 - 10192

78



Result:
0.46379... « 10%°

9.46379¢+20

(4.46982e-10) +1/2 ((9.46379¢+20) — (1.24880e+19))

Input interpretation:
1
4.46982 1071 + 5 (946379 10*° — 1.24880  10'°)

Result:
4.66945500000000000000000000000446982 = 10°°

Repeating decimal:
4.66945500000000000000000000000446982 % 10°

4.669455%10%" =r,
Or, with minus sign:
(-4.46982¢-10) +1/2 ((9.46379¢+20) — (1.24880e+19))

Input interpretation:
1
~4.46082 1077 + 5 (9:46379 10*" —1.24880 107}

Result:
4,66945499999999999999999999999553018 x 10%°

4.669454999%10%° = 1.

3In((((4.46982¢-10) +1/2 ((9.46379¢+20) — (1.24880e+19)))))-Pi

Input interpretation:
1
3 10g[4.45932 10710 4 5 (946379 10* - 1.24880 m“"‘]]-;r

log(x) is the natural logarithm
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Result:
139.63664. ..

139.63664... result practically equal to the rest mass of Pion meson 139.57 MeV

3In((((4.46982e-10) +1/2 ((9.46379¢+20) — (1.24880e+19)))))-Pi-13-golden ratio

Input interpretation:
1
3 lag[4.45932 1071° 4 5 (946379 10%° - 1.24880 m“"]}- m-13-¢

logix is the natural logarithm

# iz the golden ratio

Result:
125.01861...

125.01861... result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18 GeV

27*% 172(((3In((((4.46982¢e-10) +1/2 ((9.46379¢+20) — (1.24880e+19)))))-13-golden
ratio)))-1

Input interpretation:
1 1
2752 [3 103[4.46932 1077+ (9.46379 - 10 - 1.24880 m“”']J- 13 -¢J- 1

logix is the natural logarithm

# iz the golden ratio

Result:
1729.1627...

1729.1627...

This result is very near to the mass of candidate glueball fy(1710) meson.
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross—
Zagier theorem. The number 1728 is one less than the Hardy—Ramanujan number
1729
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From:

A de Sitter tachyonic braneworld revisited

Nandinii Barbosa-Cendejas, Roberto Cartas-Fuentevilla, Alfredo Herrera-Aguilar,
Refugio Rigel Mora-Luna, Roldao da Rocha - arXiv:1709.09016v1 [hep-th] 17 Sep
2017

We have:

V(T) = —As sech /2"214" 6 soch? (1] -2 As T -1
! ) = — Ay sec \h—gh5ha sech V—3h5l5 —

= —As \‘j{l +sech[H (2w + ¢)]) (1 +g sech[H (2w + c*}) (2.8)

where H, ¢ and s > 0 are arbitrary constants. As < 0
-0.0864055*(((1+sech(3(2x+5))(1+3/2*sech(3(2x+5))))"1/2

Input interpretation:

" 3
-0.0864055 \f 1 +sechi3i2x+5n [l + - sechi3 (2 x + 5}}}

sechix) is the hyperbolic secant function

Plots:

1
0.09
0.107,
011 |
0.12]
0,13 |
0.14 |
0,15 |
016 |

x
27 -26-25-24-23-2.2

(¥ frem-2.8to -2.2)

I XX
0.0 3.0 2.5 2.0 1.5
0.10 | ) _
: {x from =3.5to -1.5)
0,12 |
[ /
0.14 | /
0.16 | \J/
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Alternate forms:
_0.0610979 v/ sech(6 x + 15) (3 sech(6 x + 15) + 2) + 2

~0.0610979 V 3 sech’(6 x + 15) + 2 sech(6 x + 15) + 2

~0.0610979V 3sech®(3(2x+5))+2sech(3(2x+5))+2

Derivative:

[ [ 3
;— -0.0864055 \I sech(3 (2 x + 59 (5 sechi3(2x+5)+ 1] +1 ] =
ax

tanh(6 x + 15) sechib x + 15)(1.09976 sechib x + 15) + 0.366587)

*u'll 3sech?(6x+15)+ 2 sechibx + 15)+ 2

tanh(x is the hyperbolic tangent function

For x =-2.5, we obtain:
-0.0864055*(((1+sech(3(2(-2.5)+5))(1+3/2*sech(3(2(-2.5)+5))))))"1/2

Input interpretation:

| 3
-0.0864055 \f 1 +sech(3(2«(-2.5)+5) [1 + 3 sech(3 (2 = (-2.5) + Sn]

sechixi is the hyperbolic secant function

Result:
-0.161650. ..

-0.16165...

Alternative representations:

3
\/ 1 +sech(3(2(-2.5+5n (l + 5 sechi(3 (2 (-2.5)+ 5}1] (—1y0.0864055 =
| 3

| 1+ R
~0.0864055 ,/ 1 + el
‘1 cos(0)
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3
\/ 1 +sech(3(2(-2.5+5n (l + 5 sechi(3 (2 (-2.5)+ 5}}] (—1y0.0864055 =

3

1+
_0.0864055 /1 g, o)
\ cosh(0)

3
\/ 1 +sech(3(2(-2.5+5) [1 + = sechi{3 (2 (-2.5)+ 5}}] (-1} 0.0864055 =

[1+2?}

2 ¢°

-0.0864055 J L —————

Series representations:

3
\/1 +sech(3 (2 [—2.5}+5}}[1 + = sech(3 (2 [—2.5}+5}}] (-1} 0.0864055 =

_|::|.|::us|5.4|3551IH i 5 b q‘1+2*‘+5[}‘[ 15 '“2*‘] for g

=1

3
\/ 1 +sech(3(2(-2.5)+5) (1 + 5 sech(3 (2 (-2.5) + 5}}] (-1 0.0864055 =

' 2
7 +4n T, S+ 24(xp, )
~0.0864055

1+2k
}'rz

3
\/ 1 +sech(3(2(-2.5)+5n [1 + 5 sech(3(2(-2.5)+ 5}}] (-1)0.0864055 =

[ 1+2-1+2k}{ B } 142k By

\1 THA 2‘ 2 k)

i [-1+2-1+“}[D- R

5!2 Z 2

e (2 ky

-0.0864055

Integral representation:

3
\/ 1 +sech(3(2(-2.51+5n (1 + 5 sechi(3 (2 (-2.5) + 5}}] -1y 0.0864055 =

6 2z aef

+2}TJ;U 1;2 dt
}TZ

’ P
~0.0864055 \
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For
A < ()
-0.864055*(((1+sech(3(2(-2.5)+5))(1+3/2*sech(3(2(-2.5)+5))))*1/2

Input interpretation:

' 3
—-0.8B4055 \{ 1+sechi3(2«(-2.51+5n [1 + 5 sech(3i2 «(-2.5) + 5}}]

sechix) is the hyperbolic secant function

Result:
-1.61649888666447896196028300545088800346439884750512395579...

-1.61649888...

Alternative representations:

' 3
\/ 1 +sechi3i2(-2.5+5n [1 + 5 sech(3(2(-2.5)+ 5}1} (—1)0.864055 =
3

| 1+
—0.864055,| 1+
‘1] cos(0)

2ecos(0)

' 3
\/ 1 +sechi3i2(-2.5+5n [1 + 5 sech(3(2(-2.5)+ 5}1} (—1)0.864055 =

f 1 3

| T p
_0.864055 | 1+ — 220
\ cosh(0)

' 3
\/ 1 +sech(3(2(-2.5)+5)n [1 + = sech(3 (2 (-2.5) + 5}1} (—1)0.864055 =

[1+m}

EPD

-0.864055 4 1+
\

Series representations:

' 3
\/ 1 +sech(3(2(-2.5)+5)n [1 + = sech(3(2(-2.5)+ 5}1] (-1 0.864055 =

_a.sﬁarr::ss\. i[ 1 q'1*2k+5LL[ 1 '“2“]
=1
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' 3
\/ 1 +sech(3(2(-2.5)+5p [1 + 3 sechi{3(2(-2.5)+ 5}1} (=13 0.864055 =

: o =1 -1 \2
| 7 +anzp, S +24[z;;j E]
~0.864055 |
}TZ

' 3
\/ 1 +sech(3(2(-2.5+5p [1 + 5 sechi(3(2(-2.5)+ 5}1} -1y 0.864055 =

w (-1+2702k)(0 - ix)2 0 g,

—0.864055 | 1+2:Z +
| tep 2 ky

= (2 k)

Integral representation:

' 3
\/ 1 +sechi3i2(-2.5+5n [1 + 5 sech(3(2(-2.5)+ 5}1} (—1)0.864055 =

| . . 2
}1‘2+23TJ3‘” 1., d't+|f:l[]'u‘;‘J lthj
14< : 14<
—C|.8I54C|55r,q >

From the inverse, we obtain:
-1/(((-0.864055*(((1+sech(3(2(-2.5)+5))(1+3/2*sech(3(2(-2.5)+5))))))"1/2)))

Input interpretation:
-1

.-
—D.864055\I 1 +sech(3(2 [-2.5}+5}}[1 +§ sech(3 (2 «(-2.5)+5)))

sechixi is the hyperbolic secant function

Result:
0.618621...

0.618621... result practically equal to the value of golden ratio conjugate
0.61803398...
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Alternative representations:
1

\/ 1 +sech(3(2(-2.5)+5) [1 n ; sech(3(2(-2.5) +5n} (—~1)0.864055
-1

1+2 3 o
1+ e
"-4 cas{d)

-0.864055

1

\/ 1 +sech(3(2(-2.5)+5) [1 n ; sech(3(2(-2.5) +5n} (—~1)0.864055
-1

1+2 3|'||:I
Ty, Emrl
"-4 cosh{0)

-0.864055

1

\/1 +sech(3(2 [—2.5}+5n[1 + ; sech(3 (2 [—2.5}+5n} (-1)0.864055
1

2 '1+i]
~0.864055 [ 1+ ;o)

260

Series representations:
1

\/1 +sech(3(2 [—2.5}+5}1[1 + ; sech(3 (2 [—2.5}+5n} (—1}0.864055
1.15733

\/1 -2 Z:Ll (—1)* q—1+2k +6 [2:11 i~ 1y q—1+2k}2

1

forg = 1

\/1 +sech(3(2 [—2.5}+5n[1 + ; sech(3 (2 [-2.5}+5n} (—1)0.864055
1.15733

‘ n?4dn Dien CLE 124 [Zfﬂ i_iJE

=1 -1
142k 142k

=2
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1

\/ 1 +sech(3(2 [—2.5}+5}}{1 + ; sech(3 (2 (-2.5) +5}}} (—1)0.864055

1.15733
o [zl R)o- TR o (e [11272K)0tn) 2
\ 1+2i 307, {2.1:]!2 =462 |30, {zk]!z =
Now, we have that:
fw) = —2m [mﬂh[H f““““] , (3.14)
. (L — A c ;
T(w) = % i EllipticF (z.H (u- + §) ,2) , (3.15)
; 2
¥ = 3.\1_%!)5@ [ZJathiAmplitudE (i\@fﬂ", 2)]
: 2
== 3\§,b sech (H (2w + ¢)), (3.16)
F.
where b is an arbitrary constant
v(T)
-L:,:| u:: T

Figure 2. The shape of the sell-intersction potential of the tachyonic scalar feld V(T7). We set
n=1;2,¢=0 H =1, 2.#;% =1 and s =1 for simplicity.
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Forb =5 and w = 8, we obtain:
(3*sqrt6 * 5°2)/0.5 * sech(2*8)
Input:

346 »52
‘j—sech[ﬂ 8)
0.5

sechix) is the hyperbolic secant function

Result:
0.0000826961...

0.0000826961...

Alternative representations:

sech(2 8}[31,"? 52] 3 52@
0.5 ~ 0.5 cosh(16)

sechi2 8}[31}?52] 6. 52 16 M."E

0.5 05 (1+6%)

sech(2 8}[31}'?52] 6. 52 M,"E

0.5 - CI.ELI% +¢=16}

Series representations:
sech(2  8)(3y 6 5]
0.5

1
= _30045 i i (~171 572 g~424 [5 ] for g
ke

kl =1kE=|:|

sechi2 8 [3 w,"? 52}

b —
= 150 exp[ur{MJ]
” T
w (-1 E-x" (-2
sech(16) y x z‘ [ 2l for R and 3

k!
k=0
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sech(2  8) [3 Je 52]

0.5
Cqkqtky o ~142ky p kg okp [ 1)
« -1 q (6 —x)°2 x [ E}ka

[

2l £ 5

kl =1k2=|:|

-300 exp[z T

k!

Integral representation:
sech(2 8}[31." 6 52] 300 '\'I'E o 32007
0.5 o Jc. 14+#2

dt

(((3*sqrt6 * 572)/0.5 * sech(2*8)))"1/4096
Input:

|
4|:I’F‘I5|| SNKE 52
Y o5

sech(2 « 8)
sechixi is the hyperbolic secant function

Result:
0.9977076272...

0.9977076272... result very near to the value of the following Rogers-Ramanujan
continued fraction:

e_% e ™3
\/3 =1- C_Z”JE ~(0.9991104684
-p+1 1+—e_3wg
143 ¢54\/5—3 -1 1+—
e—4m/§
1+
1+...

and to the dilaton value 0.989117352243 = ¢

89



2*sqrt(((log base 0.9977076272(((3*sqrt6 * 5°2)/0.5 * sech(2*8))))))-Pi+1/golden
ratio

Input interpretation:
| 3v6 x52

1
2 I| logg cormareaTa T sech(2 « B) —fr+;

sechixi is the hyperbolic secant function

logpixiis the base-b logarithm

# iz the golden ratio

Result:
125.4764 ..

125.4764... result very near to the dilaton mass calculated as a type of Higgs boson:
125 GeV for T =0 and to the Higgs boson mass 125.18 GeV

Alternative representations:

sechi2 8}{3@ 52]] 1

-T+ =

i

2 | logneormos
| 0.5
\

[5 szplwﬁ]

—r+ = +2 | logg corros
i

\ 0.5(1+¢%)
R
sechi2 8}[3@52] . ; 102[3 5 s:.tl::.l&w&
2 |lo S A G | :
‘i Bo.eoros 05 }T+.¢ T+ -+ \1 log©.997708)

-m+ - =

2 | logg cormos &

\I‘. 0.5
6 526 ]

5L+l

sech(2 8}{3@ 52]] 1

it | logg cormos
& + &€

plB
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sech(2 8}[3\/? 52] 1

2 | logp cormns 05 —-T+ ; =

| 352\/?]

1
—x+-+2 |lo
T+ 3 + ‘1 ED.Q;'?'?DS[D_S cng[—lﬁl i}

Series representations:

(sech(2 s}[zﬁsz] ;

2 | loggcormos 05 —}T+; =

1 =
; —mT+ 2 _“‘1 ].Dgu_gug?mg[—BDD JE 2‘ {(— l}k q_1+2k] forg
k=1

sech(2 8}[3\"? 52] 1

2 | logg cormos 05 -+ ; =

{-1f [<14150 sechi16)V 6 |
[eil ¥
1 ¥ k

At log(0.997708)
sechi2 8}[3\'@ 52] 1
2\‘ logg eermos 05 —m+ ; =

1 r
; —T+ 2 \/—1 + lﬂgu_gg?mg[].SD SECh[lﬁ} ‘/E]

i[ 51 ][—1 + lug.:,.g.;?ms[ISD sech(16) \/E]]_k

.'5:=I:IJ!IC

Integral representation:

sech(2 8}[3@ 52] 1

2 | logp.oormos 05 - +; =

300V 6 e t®2OT
le o
T Q

1
; -m+2 J IUED.Q-;-??DS[ _—
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2*sqrt(((log base 0.9977076272(((3*sqrt6 * 5°2)/0.5 * sech(2*8))))))+11+1/golden
ratio

Input interpretation:
| 3v6 =57

1
2 \Jll ].Clgn_pg\?'_?ﬂ?ﬁz?z T SECh[E 8]‘ T 11 + ;

sechix) is the hyperbolic secant function

loggixis the base= b logarithm

# iz the golden ratio

Result:
139.6180...

139.618... result practically equal to the rest mass of Pion meson 139.57 MeV

Alternative representations:

sech(2 8}[3@ 52] 1

2 IDED.';'.D'?'?DS 05 +11 + ; =
[5 52 flﬁ\jg]

11+ = +2 |logyoormos
o

\ 0.5(1+¢%)
a —_—
sech(2 8}[3@ 52] 1 i 10g[3 5 5:;1;-:16]\-'6‘]
2 |1 Tt e :
Jeoesre Rl ¢ 8 i . “i log(0.997708)

\I‘. 0.5

sech(2 8}[3@ 52] 1

2 | logp.cormos 05 +11+- =

5526]

0.5 [!1—16 - fm}

1 |
11+ ; +2 | IUED.W'??DS[
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sechi2 - 8) [3 \/E 52]

2 ].Dgu_gg'_?mg 4 11 =

\ 05
| 3526 ]

1
11+ - +2 llo
+ P + ,1 gD.WT?DS[D_S CDS[_]-E' I}

Series representations:

sech(2 - B) [3 JE 52]

1
2 10 11+- =
\1 Eo.oovmos 05 t &
1 )
11 + ; +2 “4 ].Dgu_gg?mg[—BDD ‘II|| B z [—1}k q—1+2k] far q
k=1

sechi2 - 8) [3 \"E 52]

2 ID 11+- =
1‘ gn.coTT0e 05 +
o 1 (-141505ech16)Y6 [£
1 k=1 I
114+ —+24 -
@ log(0.997708)

sech(2 - 8) [3 \"E 52]

2 | logo.germs +11+

Q‘H 0.5

1
11+ +2 \/— 1 +lag.:._;wms[150 sech(16) \/E]

i[ E ][—1 + lngﬂlg.;?ms[ISD sech(16) \E]]_k

k=0

T | =

Integral representation:

sech(2 - 8) [3 \({E 52]

1
2 ].Dgu_gg'_?mg |:| 5 T 11 + ;

300 \1? J.N E.I:EEI':I,-'JT ]
dt

1 1
11 + ;+2‘4|].Dg|:|_gg?mg[ : 1+t2

i
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Appendix

From:

Three-dimensional AdS gravity and extremal CFTs at ¢ = 8m
Spyros D. Avramis, Alex Kehagiasb and Constantina Mattheopoulou
Received: September 7, 2007 -Accepted: October 28, 2007 - Published: November 9, 2007

d S

t~

d 5

-
b
-

=~

-
Faypi

. ot | il S
1 196883 12.1904 | 12.5664 1 42987519 17.5764 | 17.7715
3| 2 21296876 | 16.8741|17.7715 6| 2 40448921875 | 24.4233 | 25.1327
3 | 842609326 |20.5520|21.7656 3 | 8463511703277 | 29.7668 | 30.7812
2/3 139503 11.8458 | 11.8477 2/3 7402775 15.8174 | 15.6730
4 [5/3| 69103488 |18.0524|18.7328 T |5/3| 33934039437 | 24.2477 | 24.7812
8/3 | 6928824200 |22.6589 | 23.6954 8/3 [16953652012291 | 30.4615 | 31.3460
1/3 20619 9.9340 | 9.3664 1/3 278511 12.5372 | 11.8477
5 |4/3| 86645620 |18.2773|18.7328 8§ |4/3| 13996384631 |23.3621 | 23.6054
7/3| 24157197490 | 23.9078 | 24.7812 7/3 | 19400406113385 | 30.5963 | 31.3460

Table 1: Degeneracies, microscopic entropies and semiclassical entropies for the first few values of

m and Lg.
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Conclusion

Modular equations and approximations to
S. Ramanujan - Quarterly Journal of Mathematics, XLV, 1914, 350 — 372

Note that:
g22 = \/ (L + V2).
Hence
6493 = €™V _ 244 276 VR _
64055 = 4096e V2 4 .
so that
A 4+ o ) = VB 94 4 A0 T e e = BA(L S VI (L=
Hence
¢™22 — 9508051.0082 .
Thence:
Bl = 4096~ ™V22 4 ..
And
64(g2s + gpt) = €™V — 24 4 4372 VB ... —64{(1 + VD)2 + (1

That are connected with 64, 128, 256, 512, 1024 and 4096 = 64°

\/E)IQ}'

-V}

All the results of the most important connections are signed in blue throughout the
drafting of the paper. We highlight as in the development of the various equations we
use always the constants m, ¢, 1/d, the Fibonacci and Lucas numbers, linked to the
golden ratio, that play a fundamental role in the development, and therefore, in the

final results of the analyzed expressions.
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Furthermore, we note that: 8125475 _ ) 9991660072
\/ 139.618

result very near to the value of the following Rogers-Ramanujan continued fraction:

e_% e s
\/g =1- e_z”‘/g = (0.9991104684
143 4054\/5_3—1 14—
e—47t\/§
1+
1+...

It therefore seems possible a theory that connects two physical parameters, which are
the values of the mass of the Higgs boson and the meson © (Pion), with the Rogers-
Ramanujan continued fractions, which are also mock theta functions. Is this what
Srinivasa Ramanujan had begun to guess just before his untimely death?
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